INFOSYS

Aptitude Questions 

1. One guy has Rs. 100/- in hand. He has to buy 100 balls. One football costs Rs. 15/, One Cricket ball costs Re. 1/- and one table tennis ball costs Rs. 0.25 He spend the whole Rs. 100/- to buy the balls. How many of each balls he bought?   

2. The distance between Station Atena and Station Barcena is 90 miles. A train starts from Atena towards Barcena. A bird starts at the same time from Barcena straight towards the moving train. On reaching the train, it instantaneously turns back and returns to Barcena. The bird makes these journeys from Barcena to the train and back to Barcena continuously till the train reaches Barcena. The bird finally returns to Barcena and rests. Calculate the total distance in miles the bird travels in the following two cases:  
(a) The bird flies at 90 miles per hour and the speed of the train is 60 miles per hour.  
(b) the bird flies at 60 miles per hour and the speed of the train is 90 miles per hour 

3. A tennis championship is played on a knock-out basis, i.e., a player is out of the tournament when he loses a match. 
(a) How many players participate in the tournament if 15 matches are totally played?  
(b) How many matches are played in the tournament if 50 players totally participate? 

4. When I add 4 times my age 4 years from now to 5 times my age 5 years from now, I get 10 times my current age. How old will I be 3 years from now?   

5. A rich merchant had collected many gold coins. He did not want anybody to know about them. One day, his wife asked, "How many gold coins do we have?" After pausing a moment, he replied, "Well! If I divide the coins into two unequal numbers, then 37 times the difference between the two numbers equals the difference between the squares of the two numbers."  The wife looked puzzled. Can you help the merchant's wife by finding out how many gold R

6. A set of football matches is to be organized in a "round-robin" fashion, i.e., every participating team plays a match against every other team once and only once.  If 21 matches are totally played, how many teams participated? 

7. Glenn and Jason each have a collection of cricket balls. Glenn said that if Jason would give him 2 of his balls they would have an equal number; but, if Glenn would give Jason 2 of his balls, Jason would have 2 times as many balls as Glenn. How many balls does Jason have? 

8. Suppose 8 monkeys take 8 minutes to eat 8 bananas. 
(a) How many minutes would it take 3 monkeys to eat 3 bananas? 
(b) How many monkeys would it take to eat 48 bananas in 48 minutes      

9. It was vacation time, and so I decided to visit my cousin's home. What a grand time we had! In the mornings, we both would go for a jog. The evenings were spent on the tennis court. Tiring as these activities were, we could manage only one per day, i.e., either we went for a jog or played tennis each day. There were days when we felt lazy and stayed home all day long. Now, there were 12 mornings when we did nothing, 18 evenings when we stayed at home, and a total of 14 days when we jogged or played tennis. For how many days did I stay at my cousin's place? 

10. A 31" x 31" square metal plate needs to be fixed by a carpenter on to a wooden board. The carpenter uses nails all along the edges of the square such that there are 32 nails on each side of the square. Each nail is at the same distance from the neighboring nails. How many nails does the carpenter use?  


 Answer and Explanation. 
1.    F + C + T = 100-------------eq1
   15F + C + 0.25T = 100-------------eq2
   eq1=eq2 .solve to get F=3T/56 ;F=3,T=56,C=41

2. a) There is no need to consider their meeting pt at all. the train has been running for 90miles/(60miles/hr)=1.5hrs.bird flies till train reaches destination frm strting pt. so bird flies for1.5hrs at the vel given(90).so dist=1.5*90=135miles 

 b)  time of train=1hr. so dist of bird=60*1=60miles

3. (a) u don't need to sum it up. since it's a knock out only 1 person emerges winner finally.so15+1=16is answer. becos after15 matches finally we shud've 15losers and 1winner.

(b)  49:its always one less than no of players as per the idea  given above. so no need to check okay cos its always true. ans is 49. 

4.  Let x= current age 
 4(x+4)+5(x+5)=10x ;so x=R 41 years

5. 37(x-y)=x^2-y^2. u no tht x^2-y^2=(x-y)(x+y). so (x-y) cancels on both sides to give x+y=37. so sum of unequal halves=37 which is the req answer.

6. R ans:7 teams okay. for a match u need 2 teams. suppose there r totally 'n 'teams.
Now uve to choose 2 teams out of 'n' teams. so answer =no of such choices=no. of possible combinations. So we've ans = nC2(ncombination2)=21;solve to get n=7.
Sol: n(n-1)/2=21. so n=7.if u don't understand c the graph below
each team plays no. of matches=no of teams ahead of it. One bar '|' represents one team.
| | | | | | | ------------7 
6 5 4 3 2 1 0 -----------21
last team is written as 0 matches becos this team has already played with all other teams-hence sum of matches =6+5+4+3+2+1=21 which is correct only if no of teams =7

7. R 14
1. G+2=j-2
2. 2(G-2)=J+2.
solve these 2 to get 
J=14

8. a). Sol: each mky takes 8 min to eat a banana 

 b).ans:8m=48 m=6

9. Use sets and venn diagram to solve such questions. a, b, aub, anb etc.
12=tennis+leave
18=jog +leave
so jog-tennis=6
again jog+tennis=14.so solve and get jog=10,leave=8,tennis=4.so tot=22

10. Ans= 32*2 + 30*2=124 

  Aptitude Questions 

1. A software engineer returns from America. As he is fat he decided to have evening walk.....he started at 3pm. he walks along the road at 4km/hr for some time then he climbs a upward slope area at 3km/hr then downwards at the rate of 6km/hr. then back to the home through the road at 4km/hr. what is the distance he covered in one way if he reaches back home at 9pm. 

2.  men and lodge related question 
a)1 man related to 2lodges.
b)each lodge has 3 men.
c)only 1 man common b/w 2 lodges 

3.  A child questions his father, "What is your father's age", to which  the father answers "He was aged X in year X^2 (X square) ". If the  context is 20th Century, What is his Date of Birth?  

4. A man rides cycle for two third of the distance to be covered. then his tyre got punctured. he walks the rest of the distance and found he took twice the time for walking compared to riding. How fast he can ride compared to walk. 

5. 51 teams are there and they are to play basketball matches. A team is out of the tournament if that looses 2 games. what is the maximum number of games to be played to decide one winner.  

6. who was the murderer(of smith) roger, o'neil, wait the waiter poisened smith with which friend. each of the friends tells 3 stmts 1 of which is false (1 stmt of each friend is false) 

7. Nalanda, Rampur, Triloknagar, Maninagar etc some conditions are given....then u have to find which has the population below 5 lakhs. whic is not the capital 2 industrial towns,2 harbours, longitude relation, latitude relation......etc (four questions based on these) 

8. Another one on  A,B,C , D and E younger and older relation + occupation of each nutritionist, doctor, planner etc. find who is who ? 

9. Two lamps sold for Rs.12 each profit of 25% on 1 and loss 0f 20% on other? did he gain or lose? by how much? 

10. A,B,C   are  persons and thy r div into three groups: Sororrean [always truth] , Nororrean [always lie] and Midrorrean [alternate-but not in any order as they speak truth first of false first]--repaet from earlier papers. 

 Answers 

1. Ans: 12 km (one way )( total distance:12* 2 = 24 km)

2. Ans: 6 men and 4lodges 

3. Ans: 1892  

4. Ans: V(riding)=4*V(walking)[4 times] 

5. Ans:101 matches  

6. Ans: Roger was the murderer.(not sure) 

    9.   Ans: 60 paise loss
 10.    Ans: A: midrorean B: nororrean C: sororrean

Aptitude Questions 

1. There r some bees in a garden.1/5th of them went to a particular flower,1/3rd went to another flower, 3 times the difference of the above two went to third flower. n one was remaining n it was roaming around. how many bees were there?                                                                                    (3 marks)
Ans:15 

2. Jim n Harry have the same number of marbles when they start playing. n then afterwards...Jim gains 20 marbles and later he loses 2/3rds of what he had. now Harry has 4 times as many marbles as Jim has. What r the initial number of marbles that each of them had?
Ans:100 each 

3. F, G, H, J, K are some juniors and P, Q, R, S are some seniors...and there are 3 communities Cultural, Recreation n Ethics. n each contained 3 members each. n each one was a member of only one committee.
i) F, Q are in Cultural committee.
ii) P is in recreation committee.
iii) J wont be in a committee where H or Q are there.
iv) G will be in recreation committee if S also works in recreation committee.
v) there will be atleast one senior in each committee.
vi) R wont be in a committee is S is there
 In this 4 parts were there they gave some conditions and asked to choose from the options. 

4. There was a community in which there were 1000 couples. In that 2/3rd of men who r taller r also heavier n 3/4th of the men who r heavier r also taller n there were 120 women who were both heavier n taller than men. So how many men r both taller n heavier than women?                                                 (3 marks) 

5. A man drives with constant speed. n he after some time he sees a milestone with 2-digits. then he travels for an hr n sees the same 2 digits in reverse order. n then after an hr he sees that the milestone has the same 2 digits with a 0 between them. so whats the man speed?
Ans:45km/hr 

6. There were 2 systems A n B. 14 degrees in A is equivalent to 36 in system B and 133 in A is equivalent to 87 in B. now what is the temperature where they both r equal?      
Ans:51.25 (conversion A=(7/3)B-70) 

7. X Y Z                                X Y Z
A B +                                   A B -
-------                      ----- ------------- 
 C D E F                           B G A
                                                                    find X,Y,Z,G 

8. A women buys some shoe strips n then 4 times of that she buys packet pins n then 8 times of shoe strips she buys hand kerchiefs. n she has a bill of Rs3.24. n she pays for each article as many paise as there r articles(of tht particular item).Now whats the number of handkerchiefs? Ans:16 

9. Ms.Anitha got her salary n she spent half of it in shopping n gave 1RS to a beggar. After that 1/2 of the remaining money she spends in a hotel n she gives Rs.2/- as a tip to waiter. n then 1/2 of the remaining she spends again n she gives 3 RS as charity. n after that finally she is left with Rs 1/- when she comes out. Whats the actual money she had?
Rs 42/-                                                                                                                                   (3 marks) 

10. There r 2 children. one of them lies on Monday, wednesday n friday n tell truth on every other day. the other will lie on Tuesday, thursday n saturday n always tells truth on other days. n both of them tell the truth on sundays. then which of the following can be deduced?
i)If its a sunday both will say so
ii)if one of then says a correct day then other will lie everything.

Aptitude  

1. One-third of the persons in front of me together with 3/4th of the persons behind me equals the total number of the persons in the merry go round. find the total number. 

2. A bus has a maximum speed of 100 km/h. With 3 people, the bus moves at a speed of 88 km/h. With 6 people what would be the velocity if the bus' speed decreases proportionately with the number of people in the bus. 

3. In an island, natives always lie and visitors always tell the truth. I met a salesman in a hotel in the island. I wanted to know whether the salesman was a native or a visitor. For that, instead of directly asking him, I asked him to ask a woman sitting in the nearby table whether she is a native or a visitor. The salesman asked the woman and said "she said she is a visitor". Is it possible to find whether the salesman was a visitor or a native? If so, what is he? 

4. There are 3 teachers and 6 subjects. Some conditions like when the biology teacher was playing cards with the geography teacher, the history teacher was in class. Te1 and the geography teacher are neighbours ...... 

5. There are 4 persons Tom, Dick, Jack and Al who were fishing. Tom had more fishes than Jack. Tom and Jack together fished the same as Al and Dick. Tom and Al together had fished more than Dick and Jack. Give the list in descending order of number of fishes.(There was another condition that confirms that Dick ). 

6. A 1 k.m. long wire is held by n poles. If one pole is removed, the length of the gap increases by 5/3 metres. What is the number of poles initially? 

7. I left home early in the morning and returned back in the afternoon. The speciality that i noted was that when i returned, the minute hand was where the hour hand was in the morning and the hour hand was 2 minutes away from where the minute needle was in the morning. When did i return? 

8. There was a problem from previous question papers, something like "There are 5 persons A,B,C,D,E and there are 5 languages, Spanish, Portuguese, Italian, English and French. One person knows 5 languages, one knew 4, one knew 3, one knew 2 and one only one.A and B switch to Spanish when D comes because he doesn't know English. The most common language was spanish. Three knew spanish.
9. "There was a problem like this: A,B,C,D,E,F make one statement each.
  A : .....
  B : Today is a saturday
  C : No, he lies. Today is not a saturday
  D : Tomorrow is neither a saturday nor a friday
  E : ......
  F : Today is a Friday Only one statement among them was true. Then what is today???  

10. A question like this: There is an island where a festival by name wishart is held. Given,the 1st of march 1972 is a wednesday, .....( I didn't have any time to completely read the problem) 

  

  Aptitude Questions 

1. A shopkeeper arranges his fruits in such a way that putting say either 3, or 9,or 7 apples in a row each time one apple is left. but when he puts say 11 apples in a row no apple is left. find no. of apples.

ans: take l.c.m. of earlier three nos. add 1 if divided by 11 fine else multiply by 2 add 1 divide by 11 .if not divisible keep on repeating. i got ans. in 2 steps.

2. A problem of staircase: if i start going down, having gone down 4 steps i see x coming up. i meet x in way going down. when i had still  7 steps to go down x had gone up .find no. of steps in the staircase. condition: for each of my one step down  x goes up 2 steps.
ans:22
solution:
say total no. of steps x
2(x-11)==x
x="

3. Problem of merry go round. tom on a merry go round finds that one third of people ahead of him and  three fourth of people behind him  is equal to the no. of people on the merry go round. find the no. of people on the merry go round.
ans:13
since merry gorund is circular so
3/4x+1/3x==x+1.

4. A problem of cards. four persons sitting on a table. infront of each one of them one card is lying not having same colors on both sides.2 blue,2 red,2 green faces. each one guesses the color of unseen face of card .(guesses  i don’t remember) exactly 2 are lying.
the front faces of card are red, blue, green, red respectively. find the colors of unseen faces of card.

5. five persons in a conference. a & b can communicate in english. when d joins the only common language of communication is spanish. a ,b, e can talk to each other in french only. exactly 3 people know portugese. the number of languages known by different persons are 1,2,3,4,5. some other similar conditions. you have to find answers to four questions based n these facts.

6. say on a sacle of 100:
85 have phones,80 cars,75 married,70 have houses. how many minimum persons are married, have phone car and houses on a scale of 100.

7. some series given
3  10  20  27  54  61  _
ans .162
some other series
trick: find square root then add some number etc.

8. some conditions on x<y<==1,xy==z choose which option would be incorrect. options like:x<y, x>z etc.

9. afternoon temperatures of five days are recorded. each temperature is different. multiple is 12.

ans:-1,1,2,-2,3

Infosys Interview

1. Tell us something interesting about urself .   
A: i talked about my education.

2. Now about ur extra-curricular activities .say about dancing?
A: Yes , I like dancing very much.

3. What r the things necessary 4 a good dancer?
 A: Expression, movements, understanding the lyrics.

4. What attracts u to dancing?
   A: Music, rhythm.

5. Now about Debates. What topics did u speak in debates?
   A: I can't recall all. some were related to education, some were social topics.

6. What was the topic related to education?
   A: Whether literacy is necessary for Politicians.

7. If u r made the Head of Education Council of India, What changes will u bring about so as to improve the quality and efficiency of future engineers?
A: I wud see that more importance is given to practical aspects. syllabus may be modified eg   4 comp sc students,  instead of teaching out dated languages , those in demand in the industry shud be taught. and 4 that quality teachers shud b  recruited.(I said little more elaborately on that but this was the jest)

8. Be more specific. What exactly can be changed about the study pattern to ensure the efficiency?
 
A: teachers shud try to develop reading habits in students. In India we students don't do much of reading. Most of us only go thru the syllabus. Instead of loading students with a burden of assignments, they shud be given a particular topic to study and read about in a fixed time, say in one day find out about this Xyz topic. they will then go to library or search thru net and in this way learn something outside the syllabus. 

9. How will u ensure they r reading?
By holding tests on that topic.

10. Now about sports. What sports did u play?

11. Tell us about Arunachal Pradesh.(my college is there)

12. what r the industries that can  b promoted there?

13. what r the problems u face there?

14. how will u arrange a trip 4 four days to AP?

15. Your final yr project in layman's language. did u test it? 

KANBAY

Aptitude pattern.

This time the pattern was different there was no problem from time and work time and distance profit and loss simple interest .compound interest Trains boats and streams. pipes. my advice is to be prepared with all the topics from RS Agarwal. and also of icet pattern 

Mathematics. 

Trigonometry(4) quadratic equations(2) .progressions(1) areas (3) LCM(1) ..arithmatic reasoning was also given in maths section it had 3 r 4 bits .stocks shares(4) basic arithmatic ages .averages matrices.probability.permutations deductions .conclusions number and alphabet series .clocks ..calenders..etc etc

1. square root of 20.8849 Ans 4.57 

2. roots of the equation are 4 and 11 

3.  If 3sin@+5cos@=5.then find the value of (3sin@-5Cos@)2 

 There are 6 people A B C D E F.each of them have 10 marbles with them.Then A and B take 4 marbles each from D and E.then C gives 3 marbles to F.then gives away the marbles to C back and two more statements 3 questions on this. 

4.  How many marbles E had 

5. Who had one more marble than F 

6. The average of scores of 40 innings of A is 50. The highest score is 178 more than the least score .If those two are removed then the average of the remaining 38 innings is 40 Then the value of the least score is .numbers r not same but the model is  

7. The sum of the ages of sohan sunil and sanjay is 60 yrs .6 yrs before sohans age was two thirds of sunil and half of sanjay.find the age of sanjay 

8. Some amount of money has to be shared between A B C .the amount is 1500(not sure).A share is two ninghts of that of B and C .B share is three elevenths that of A and c togheter find the shares of A B C Ans first option 280 330  

9. There is a building of height 500m. The angles of depressionn of the top of the building with the top and bottom of the tower are 30 and 45..Find the height of the tower ans 200( don t remember) 

10. There are two persons standing in front of tower of height 300m..the angles of elevation are 30 and 60 find the distance between the two people Ans 21.96 

11. matrix was given 
     x+2 x+3 x+4
     x+3 x+5 x+11
     x+7 x+12 x+14 find the determinant of the matrix 

12.    A B C 6

   * F E

  B C D G

 A F H H

 _ _ _ _ 8       the letters are not exactly the same but the numbers 6 and 8 are correct  4 auestions based on this

13. What is the least number when subtraced frm 23 51 37 29 gives the result as 0

14. Some question was given on stocks and shares..it was very big.and then 4 questions based on this ..

15. One more on trignometry consiting of some tan@ 

16. One more on complex numbers consisting of some alpha4beta4+alpha beta ..find the complex root

17. If X4+3X3+X2+1=0 then find the value of x3+2x2-1 question not exactly same but model is same

18. Two points were given (1,0,0) and (1,1,0). Find the perpendicular distance

19. Find the length of the wire required to tie around a square 15 times whose area is 30 hectares 

20. Find the amount of water that can be filled in a pipe of diameter 8 cm and length some value

21. There are 101 natural numbers find the ratio of the sum of even numbers to the sum of odd numbers ans (51:50) 

22. There are 500 students out of which 320 eat fish and 250 eat eggs..and 150 eat both..find the number of students who neither eat fish nor eat eggs

23. There are 6 boys and 4 girls .A committee of 5 is to be formed ..find the no of ways in which it can be formed in such a way that it includes at least 2 girls

24. Series -------4, 9, 25,_,169, 361 

 a .49   b.81   c.121   d     e none
The letters from A-Z are written cyclically in the reverse orderin such a way that A=Z, B=Y, C=X, , Z=A.

25.  What is the code for MANAGEMENT.

26. What is the code for( some word is given) we need to find the answer be careful the answer here is not INTERNET ..the last letter is different

27. What is the code for ISRO

28. If P* Q denotes P is father of Q .If P=Q denotes P is the sister of Q and 3 more conditions like this and 4 questions on this

29. A person starts walking to his home..first he walks 5 m northeast an then turns right n walks 5 m south east and then turns right and walks 5 m southwest and then turns right and finally walks 5 km north west..how far is he from starting point. 

  

Kanbay Campus Exam  
                  Test consist of 
                         1)Written Test
                               1) Mathematical
                               2) Logical
                        2)Group Discussion
                       3)Personal Interviews       

1. Average of 5 innings is 20. If four innings are 32, 10, 40 and 12 find the 5th inning score. 

2. Area of path around a square is 256 sq.m. Find the width of path if the side of square is 30m. 

3. A company increases the bonus 3 times of its 50 employees. What is the % increase in bonus?  

4. A man swims in a river 5 min upstream and 5 min downstream. Starting at A and ending at B. What is the speed of the man? 

5. NESTIN is a jumbled word. What are the first and last letters of the correct word. 

6. There is enough material to fence 30m linear. Also there is old fence on oneside of the plot. Find the length and breadth of the plot. 

7. In a game of Snooker A gives B 18 points for 90, A gives C 10 points for 60. How many can C give B in a game of 70? 

8. C is the daughter of B. h is the brother of C. F is the father of C. G is the son of F. D is the brother of F. What is the relationship between C and D? 

9. A moves 25km North and then finds that she is movin the wrong way. She then takes a right turn and moves 2km. Then again she takes a right turn and moves 25km. How much distance does she have to travel to now reach the starting point? 

10. Some cats are good. Some cats are black. conclusions to be chosen from the given multiple choices. 

11. Gold is 19 times heavier than water. Copper is 9 times heavier than water. In what ratio should they be mixed so that the alloy is 15 times heavier than water? 

12. A sphere of radius r is placed inside a cylinder of height 2r which just fits. What is the Volume of the empty space? 

13. A is 3 times as old as B. B is 4 years older than C. If C is Z years old express A in terms of Z. 

14. A is punctual. All punctual are on time. 

15. Conclusion to be chosen from the given multiple choises. a_ _ _baccba_ _ _aa 

16. Srikanth has borrowed Rs 3000 at 10% C.I.. He has to repay that after 3 years in 3 equal installments. How much does he have to pay as an installment? 

17. Given a date and day, the question was to calculate the day of the date June 12, 1979. 

18. The weight of a Bucket full of water is 17 kg, the weight of the same bucket with half full water is 13.5 kg. What is the weight of the Bucket? 

19. In a party attended by boys and girls where the girls outnumbered the boys Rs 280 was distributed. Each boy was given Rs 10 and each girl Rs 20. How many boys are there? 

20. 10% of an army died. 10% of the were ill. 12% of the rest met with an accident. What is the total number of the original army if 7 lakhs were finally left? 

21. A started a business with Rs 1700 amount. B joined A after 3 months , C joined after 6 months. If the profit is Rs 1700 and they shared it in the Ratio of 2:3:5 how much did B and C invest? 

22. A beats B by 24m. A beats C by 20m. C beats B by 1 sec. In how many seconds does A complete the race of distance 120m. 

23. VIJAY is coded as YLMDB. STOP is coded as VWRS.  A few questions were given based on this code. 

24. 9 3 6
2 ? 1
4 7 8 

25. 20  15  10
15  10  5
10 ?   10 

26. Which is larger Rs 35 : Rs 1.40 or Rs 48 : Rs 1.44 

27. A travels between two places while going with 4 km/hr and while returning at 16 km/hr. What is his average speed. 

28. In a group of people 600 are Non-veg and 400 are Veg. Of these 150 are both Non-Veg and Veg. In the Non-Veg 300 eat Mutton and 400 eat Chicken.(i) Find the number of people who eat only Non-Veg Mutton.(ii) Who eat only Veg. 

29. In a wall clock the smaller needle is between 8 and 9 and the larger makes a right angle with it. Find the exact time. 

30. If the temperature increases uniformly from 9 am to 2 pm and it increases from 21 C to 36 C. What is the temperature at noon? 

31. Place a word in the brackets such that it makes a meaningful suffix to the first part and a meaningful prefix to the second part. 
TEM (_ _ _ _) ERS 

32. A monkey climbs 3m of a greased pole in 1 minute and then slips 1m in the next. When will he reach the top of the pole of 12 m? 

33. The Alphabet that is 3 from the right to the letter between K and S. 

34. Length and Breadth of a Rectangle are 100 m and 6 m. Find the area of a road around the rectangle with a width of 5m. 

35. Find the figure with the highest Area
        i)Circle with r=2.
        ii)Equilateral Triangle with Side = 4.
        iii)Square of diagonal =2.
        iv)Triangle with a=8, b=5 and c=4. 

36. A boat moves 10 km upstream and returns to the same point in 45minutes. The speed of the stream is 3km/hr. The speed of the boat is ? 

37. Given an Equilateral triangle of side 10m. A cow is tied to one end. The length of the rope is 7 m. The area covered by the cow is ? 

38. A is 7th from the left, B is 9th from the right, if they exchange A is 11th from the left. The total number of persons is? 

39. A person moves 5 km East, turns right moves 4 km and then turns right again and moves 5 km. What is the position of the person from the starting point? 

40. If PLEASE is coded as RMIGKI, then SLEEP is coded as ______ 

41. If TRUCK = 25 and DERIVE = 36 , What is CAPTAIN ? 

42. A rectangular field of length 30 m and breadth 18 m. A carpet of 20 cm width is to be used to cover the field. The carpet costs 0.50ps per metre. What is the total cost of carpeting? 

43. A person travels 20km towards North, he takes left and travels for 15km, then he takes left and travels for 20km. In what direction is the travelling now? 

44. A train goes from A to B at 50 km/hr and comes back at 40 km/hr and hence takes an hour more time to return. What is the distance between A and B? 

  

Logical:30questions
              Math:30questions
              Mark/correct question:+1
              Mark/wrong question:-0.5                                                                                 
Logical

1.   What is implied in the following sentence, During war the two countries formed allied.
         I) There was war
         II) the two countries are companions
         a) I only b) II only c) I & II both d) neither I or II

2.  What is the conclusion from the following sentence
        A group of people are rich
        A group of people are educated
        I) Rich are educated 
        II) A group of people are neither rich or educated
        a) I only b) II only c) both I & II d) none of these

3.  What is implied from the following .All fathers are sons. No father is educated
         I) All sons are educated
         II) All fathers are uneducated                                                                                   
         a) I only b) II only c) I & II both d) neither I or II           
                                                         
4. All Donkey are Elephant .All Elephants are Cat
       a) All Cats are elephant
       b) All Elephants are donkey
       c) All cats are Donkey
       d) All Donkeys are cat
       i) only a ii) only b & c iii) all the above iv) a ,b&c ( i'm not sure of the answer & option)

5.  4 set of words are given out of which one is odd man ,find it?

       a) sigh b) cough c) talk d) sniff
       ans:c

6  Two question in which 4 option of jumble words are given find the odd man out
     a) llatfoob b) rictek c) llasm d) nisnet
     (Except one all are representing games football,cricket & tennis)
     ans)c.

7. ( don't remember)

8. ABCD are on the 4 corner of the square each has to pass the sides of a square once
    they move in clockwise direction which one is true
    ans... B is south-east of D

9. On seeing a portray a person says "he is the son of my father ,my father has only one daughter"
    How many children does the person's father have
     ans) cann't be determined

10. Average of three numbers A,B,C is 17 when A is replaced by D the average increases by 2
      what is the value of D?
       a)16 b)18 c)12 d) none of these                                                                           
       ans) d.

11.   Mr.Mukherjee has two sons Ashok ,Sham.Mr & Mrs sharma have 2 children Rekha & Anand
        If Rekha is married to sham & they have 2 children priya & Kamal then how is anand related to 
        priya     

        a)uncle b)maternal uncle c)brother d) none of these

12.   Question from the same passage 
       Two cubes are kept together that it has two faces and 6 sides they are brushed with red paint
        then it was cut  into 25 pieces

13. How many side of the cube will have at least 2 side painted

14. How many side would not have only one side painted

15.  If two days from tomorrow is Thursday then what will be 2 days before yesterday
      a) Friday b) Saturday c) Sunday d) none of these

16.  What is the day on 1978 Jan 12
        a) Monday b) Tuesday c) Friday d) Wednesday

17.Find the number in the space 
       4 3 8 
       9 ? 1
       2 7 6 
       a)4 b)5 c)2 d) none of these 
      In the below question the Facts are not Exactly the same but it's the same type a&b play hockey
       and football .d&c play football & tennis . b&c play Cricket & tennis c&a play hockey and tennis. 
        based on these 2 question like 

18  Who play all the four games

19. Who play hockey ,tennis and football  (i am not sure with the question) 
        Here if a is true then answer is c.
       if both a&b are true then answer is b.                                                                       
      if b is true then answer is d.
      if both are wrong then answer is a.

20,21 & 22 are like this type

20. If the flight starts at Hong Kong at 1 am local time it reach London 7pm find the travel time?
      a) it takes 7 hours to reach from Hong Kong to London
      b) in Hong Kong it is 7am local time
      (i am not sure with timing and the question exactly same)

23. If Kamal is coded as IVSVT then what is VIMAL

24. Series question like 1,5,11,......... (not sure)

25  _11_11_01_01_01
       a)00000     b)01110   c)10001    d)11111  like this type of question 

26 like the above type another question  with alphabets

27) 28) 29) 30)

Math
1. An unbiased coin is tossed 8 times what is the probability of getting at least 6 heads.

 2. There are 6red ,4 white,3black balls what is the probability of drawing 2 red balls.
     ans:6c2/13c2.(calculate)

 3. There are two pipes p,q which can empty a container at 24hr,32hr respectively.both the pipes are 
     opened simultaneously after what time should the first pipe be closed so that the container is 
     emptied in 16minutes.
4. A lady bought 7pineapples and 5 oranges for 38rupees.what is the cost of each pineapple.
     ans:Rs.4
5. x+y=40,(1/x)+(1/y)=60.what is the value of x,y

6. n+m+p=0,n is positive,m>n.what is the value of p?
     a)p<0     b)p>0        c)       d)
      ans:p<0   (not exactely the same.a model)
     Total number of students appeared for the test 500                                                        
      2 passed in maths 
      6 passed in english
      48 passed in social science
      4 failed in english
      120 failed in maths 
7. No of people failed totally 

8.No of people attended the test

The selection took place in three rounds each of which was an elimination round.
1)Written Test
2)Group Discussion
3)Personal Interviews
Each section contained 30 questions.The cut-off was 12 marks in each section which was clearly announced before the exam started.1 Mark was awarded for each correct answer.1/4 Mark was deducted for each wrong answe                                                                         

The questions given below were all that could be reproduced from all the 3 sets together.

1. Average of 5 innings is 20. If four innings are 32, 10, 40 and 12 find the 5th inning score. 

2. Area of path around a square is 256 sq.m. Find the width of path if the side of square is 30m. 

3. A company increases the bonus 3 times of its 50 employees. What is the % increase in bonus? 

4. A man swims in a river 5 min upstream and 5 min downstream. Starting at A and ending at B. What is the speed of the man? 

5. NESTIN is a jumbled word. What are the first and last letters of the correct word. 

6. There is enough material to fence 30m linear. Also there is old fence on oneside of the plot. Find the length and breadth of the plot. 

7. In a game of Snooker A gives B 18 points for 90, A gives C 10 points for 60. How many can C give B in a game of 70? 

8. C is the daughter of B. h is the brother of C. F is the father of C. G is the son of F. D is the brother of F. What is the relationship between C and D? 

9. A moves 25km North and then finds that she is movin the wrong way. She then takes a right turn and moves 2km. Then again she takes a right turn and moves 25km. How much distance does she have to travel to now reach the starting point? 

10. Some cats are good. Some cats are black.                                                            

11. Gold is 19 times heavier than water. Copper is 9 times heavier than water. In what ratio should they be mixed so that the alloy is 15 times heavier than water? 

12. A sphere of radius r is placed inside a cylinder of height 2r which just fits. What is the Volume of the empty space? 

13. A is 3 times as old as B. B is 4 years older than C. If C is Z years old express A in terms of Z. 

14. A is punctual. All punctual are on time. 

            Conclusion to be chosen from the given multiple choises.

15. a_ _ _baccba_ _ _aa 

16. Srikanth has borrowed Rs 3000 at 10% C.I.. He has to repay that after 3 years in 3 equal installments. How much does he have to pay as an installment? 

17. Given a date and day, the question was to calculate the day of the date June 12, 1979. 

18. The weight of a Bucket full of water is 17 kg, the weight of the same bucket with half full water is 13.5 kg. What is the weight of the Bucket? 

19. In a party attended by boys and girls where the girls outnumbered the boys Rs 280 was distributed. Each boy was given Rs 10 and each girl Rs 20. How many boys are there? 

20. 10% of an army died. 10% of the were ill. 12% of the rest met with an accident. What is the total number of the original army if 7 lakhs were finally left?                                                   

21. A started a business with Rs 1700 amount. B joined A after 3 months , C joined after 6 months. If the profit is Rs 1700 and they shared it in the Ratio of 2:3:5 how much did B and C invest? 

22. A beats B by 24m. A beats C by 20m. C beats B by 1 sec. In how many seconds does A complete the race of distance 120m. 

23. VIJAY is coded as YLMDB. STOP is coded as VWRS. 
A few questions were given based on this code. 

24. 9 3 6
2 ? 1
4 7 8 

25. 20 15 10
15 10 5
10 ? 10 

26. Which is larger Rs 35 : Rs 1.40 or Rs 48 : Rs 1.44 

27. A started a business with Rs 1700 amount. B joined A after 3 months , C joined after 6 months. If the profit is Rs 1700 and they shared it in the Ratio of 2:3:5 how much did B and C invest? 

28. In a group of people 600 are Non-veg and 400 are Veg. Of these 150 are both Non-Veg and Veg. In the Non-Veg 300 eat Mutton and 400 eat Chicken.(i) Find the number of people who eat only Non-Veg Mutton.(ii) Who eat only Veg. 

29. In a wall clock the smaller needle is between 8 and 9 and the larger makes a right angle with it. Find the exact time. 

30. If the temperature increases uniformly from 9 am to 2 pm and it increases from 21 C to 36 C. What is the temperature at noon? 

31. Place a word in the brackets such that it makes a meaningful suffix to the first part and a meaningful prefix to the second part. 
TEM (_ _ _ _) ERS                                                                                       

32. A monkey climbs 3m of a greased pole in 1 minute and then slips 1m in the next. When will he reach the top of the pole of 12 m? 

33. The Alphabet that is 3 from the right to the letter between K and S. 

34. Length and Breadth of a Rectangle are 100 m and 6 m. Find the area of a road around the rectangle with a width of 5m. 

35. Find the figure with the highest Area
i)Circle with r=2.
ii)Equilateral Triangle with Side = 4.
iii)Square of diagonal =2.
iv)Triangle with a=8, b=5 and c=4. 

36. A boat moves 10 km upstream and returns to the same point in 45minutes. The speed of the stream is 3km/hr. The speed of the boat is ? 

37. Given an Equilateral triangle of side 10m. A cow is tied to one end. The length of the rope is 7 m. The area covered by the cow is ? 

38. A is 7th from the left, B is 9th from the right, if they exchange A is 11th from the left. The total number of persons is? 

39. A person moves 5 km East, turns right moves 4 km and then turns right again and moves 5 km. What is the position of the person from the starting point? 

40. If PLEASE is coded as RMIGKI, then SLEEP is coded as ______ 

41. If TRUCK = 25 and DERIVE = 36 , What is CAPTAIN ? 

42. A rectangular field of length 30 m and breadth 18 m. A carpet of 20 cm width is to be used to cover the field. The carpet costs 0.50ps per metre. What is the total cost of carpeting? 

43. A person travels 20km towards North, he takes left and travels for 15km, then he takes left and travels for 20km. In what direction is the travelling now?                                                      

44. A train goes from A to B at 50 km/hr and comes back at 40 km/hr and hence takes an hour more time to return. What is the distance between A and B?
Q45)D/23, 17/F, I/12, 8/M, R/

Quantitative Questions 

1. Which is greater (1000)pow1001 and 1001pow999 

2. One container contains milk and water in the ratio 3:7 and the other contains 8:11,in what ratio these two containers is to be mixed so that the ratio of milk and water is 4:5. 

3. There are two simple problems on time and work                         

4. Four points will be given and you have to frame two st. line eq.s in such a way that their point of interesection lies in one of the four options 

5. There are two to three problems on profit and loss which are little bit time taking ,so i didn't attempt.
a series of nos will be given where the ans can be found by observing the diff bet two consecutive nos 

           Logical Reasoning
6. air is cloud cloud is rain rain is water wateris sand so what is cloud? ans :sand 

7. one quesion on relations 

8.  trafic: signal ans : river :dam 

9. dsoighkl now if lk-(?)-sd , find letter in 4th place                     

10. some mammals are donkeys allbuffalos will have horns based on this 3 quesions r ther 

11. cube is of size 5*5*5 .every side has been coloured. it is divided into 125 equal parts.
1) what is the no. of parts having only one side coloured - 54.
2) no. of parts having two sided coloured 36.
3) having no side coloured - 27 

12. find the no. of occurrence of T which is immediately preceded y P and not immediately followed by S in some series for eg. (TPTSTRUST.......) ans - 3 

13. .Four persons are there wearing different coloured shirts eg. A,B,C,D wearing blue ,green, red, yellowNow, 
1. A cannot wear yellow.
2. B can wear blue or green.
3. C /D is wearing yellow.
You have to find who is wearing which coloured shirt 

14. Find the root of 4a2+b2+c2+4ab-2bc-4ac Ans: 2a+b-c 

15. Two pipes can fill a tank in 5 hrs and 8 hrs. while a hole can empty it in 40 hrs. What will be the time taken to fill if each operate at a time.Soln: 1\x == 1\5 + 1\8 - 1\40                      

16. A can beat B by 20 mts. While C can beat B by 40 mts. In a race of 100 mts. By how much can C beat A? Soln: 75 mts. 

17. If u start your journey 30 minutes late , u have to increase your speed by250kms\hr. to cover up 1500 kms. In same time. What is your usual speed? Ans: 750kms\hr. 

18. For a circle, radius is inc. by some % , find net change in area? 

19. How is impedance matching done and why do we need it (basically can talk about ideal power supply needing a low internal resistance and high load to function properly. so one stage of transistor amplifier has to have low o/p resistance and high i/p resistance for next stage- do look up all basic electronics) ( also about sinking high currents without damage) 

20. what is a smith chart used for  

21. Name all flipflops u know and working esp. master slave. 

22. progaming - program to find how many 1's are present in an integer variable using bitwise operators. something about dynamic allocation, static functions, macros 

23. c++ virtual functions 

24. what is an inode in unix? 

25. small program in pascal to add a node to a linked list. (You have to tell what the program does) 

26. C strcmp program (You have to tell what the program does) 

27. Set of dos commands testing basic familiarity with dir, ren *.t?t, cd etc. 

28. What is the order of binary search? 

29. what is the order of strassens matrix multiplication?                   

30. you have to maintain the sorted order of integers and insert ntegers . which data structure would you use? (tree, list, queue,array?) 

31. There are two lists of integers to be merged. Which method would you not use? 

32. n an online database system when is data written to disk? (onpressing enter, when commit or update is encountered, at end of data,all of the above) 

33.  Small prolog function which prints 2345true. You need to tell output.  

34. Lisp program given. what does it do? (GCD, LCM, Multiplies mxn?) 

35. What is paging? 

36. what is segmentation? 

LG

	
Instructions: 
1. Please ignore any case-sensitive errors and un-included libraries. 
2. You may use the back of this question paper for any rough work.  

1. main() 
   {  
    int i; 
    printf("%d", &i)+1; 
    scanf("%d", i)-1; 
  } 
  
a. Runtime error. 
b. Runtime error. Access violation. 
c. Compile error. Illegal syntax 
d. None of the above 
   

2. main(int argc, char *argv[]) 
  { 
(main && argc) ? main(argc-1, NULL) : return 0; 
  } 
  
a. Runtime error. 
b. Compile error. Illegal syntax 
c. Gets into Infinite loop 
d. None of the above  

3. main() 
{ 
  int i; 
  float *pf; 
  pf = (float *)&i; 
  *pf = 100.00; 
  printf("%d", i); 
} 
  
a. Runtime error. 
b. 100 
c. Some Integer not 100 
d. None of the above  

4. main() 
  { 
   int i = 0xff; 
   printf("%d", i<<2); 
  } 
  
a. 4 
b. 512 
c. 1020 
d. 1024  

5. #define SQR(x) x * x 
main()
{
  printf("%d", 225/SQR(15));  
}  
  
a. 1 
b. 225 
c. 15 
d. none of the above  

6. union u 
{ 
 struct st 
{ 
  int i : 4; 
  int j : 4; 
  int k : 4; 
  int l; 
 }st; 
  int i; 
 }u; 
  
main() 
 { 
  u.i = 100; 
  printf("%d, %d, %d",u.i, u.st.i, u.st.l); 
} 
  
a. 4, 4, 0 
b. 0, 0, 0 
c. 100, 4, 0 
d. 40, 4, 0  

7. union u 
  { 
  union u 
   {  
   int i; 
   int j; 
 }a[10];  
  int b[10]; 
 }u; 
  
main() 
  { 
   printf("%d", sizeof(u)); 
   printf("%d", sizeof(u.a)); 
   printf("%d", sizeof(u.a[0].i)); 
  } 
a. 4, 4, 0 
b. 0, 0, 0 
c. 100, 4, 0 
d. 40, 4, 0  

8. main() 
   { 
   int (*functable[2])(char *format, ...) ={printf, scanf}; 
   int i = 100; 
  
   (*functable[0])("%d", i); 
   (*functable[1])("%d", i); 
   (*functable[1])("%d", i); 
   (*functable[0])("%d", &i); 
} 
  
   a. 100, Runtime error. 
   b. 100, Random number, Random number, Random number. 
   c. Compile error 
   d. 100, Random number  

9. main()
{
    int i, j, *p;  
    i = 25;
    j = 100;
    p = &i; /* Address of i is assigned to pointer p */  
    printf("%f", i/(*p)); /* i is divided by pointer p */ 
} 
  
a. Runtime error. 
b. 1.00000 
c. Compile error 
d. 0.00000  

10. main() 
  { 
   int i, j; 
   scanf("%d %d"+scanf("%d %d", &i, &j)); 
   printf("%d %d", i, j); 
 } 
  
a. Runtime error. 
b. 0, 0 
c. Compile error 
d. the first two values entered by the user  

11. main() 
  { 
   char *p = "hello world"; 
   p[0] = 'H'; 
   printf("%s", p); 
 } 
  
a. Runtime error. 
b. “Hello world” c. Compile error 
d. “hello world”    

12. main() 
  { 
 char * strA; 
 char * strB = “I am OK”; memcpy( strA, strB, 6); 
} 
  
a. Runtime error. 
b. “I am OK” c. Compile error 
d. “I am O”    

13. How will you print % character? 
a. printf(“\%”) b. printf(“\\%”) c. printf(“%%”) d. printf(“\%%”)    

14. const int perplexed = 2; 
 #define perplexed 3   
main() 
 { 
  #ifdef perplexed 
  #undef perplexed 
  #define perplexed 4 
  #endif 
   printf(“%d”,perplexed); } 
  
a. 0 
b. 2 
c. 4 
d. none of the above  

15. struct Foo 
  { 
  char *pName; 
 }; 
  
main() 
  { 
  struct Foo *obj = malloc(sizeof(struct Foo));  
  strcpy(obj->pName,"Your Name"); 
  printf("%s", obj->pName); 
} 
  
a. “Your Name” b. compile error 
c. “Name” d. Runtime error  

16. struct Foo 
  { 
      char *pName; 
     char *pAddress; 
  }; 
main() 
{ 
   struct Foo *obj = malloc(sizeof(struct Foo)); 
   obj->pName = malloc(100); 
   obj->pAddress = malloc(100);
   strcpy(obj->pName,"Your Name"); 
   strcpy(obj->pAddress, "Your Address"); 
   free(obj); 
   printf("%s", obj->pName); 
  printf("%s", obj->pAddress); 
} 
  
a. “Your Name”, “Your Address” b. “Your Address”, “Your Address” c. “Your Name” “Your Name” d. None of the above  

17. main() 
{ 
 char *a = "Hello "; 
 char *b = "World"; 
 printf("%s", stract(a,b)); 
} 
  
a. “Hello” b. “Hello World” c. “HelloWorld” d. None of the above  

18. main() 
{ 
  char *a = "Hello "; 
  char *b = "World"; 
  printf("%s", strcpy(a,b)); 
} 
  
a. “Hello” b. “Hello World” c. “HelloWorld” d. None of the above  

19. void func1(int (*a)[10]) 
{ 
printf("Ok it works"); 
} 
  
void func2(int a[][10]) 
{ 
  printf("Will this work?"); 
} 
  
main() 
{ 
  int a[10][10]; 
  func1(a); 
  func2(a); 
} 
  
a. “Ok it works” b. “Will this work?” c. “Ok it works Will this work?” d. None of the above  

20. main() 
{ 
  printf("%d, %d", sizeof('c'), sizeof(100)); 
} 
  
a. 2, 2 
b. 2, 100 
c. 4, 100 
d. 4, 4  

21. main() 
{ 
  int i = 100; 
  printf("%d", sizeof(sizeof(i))); 
} 
  
a. 2 
b. 100 
c. 4 
d. none of the above  

22. main() 
{ 
  int c = 5; 
  printf("%d", main|c); 
} 
  
a. 1 
b. 5 
c. 0 
d. none of the above  

23. main() 
  { 
   char c; 
   int i = 456; 
   c = i; 
   printf("%d", c); 
 } 
  
a. 456 
b. -456 
c. random number 
d. none of the above  

24. oid main () 
  { 
  int x = 10; 
  printf ("x = %d, y = %d", x,--x++); 
 } 
  
a. 10, 10 
b. 10, 9 
c. 10, 11 
d. none of the above  

25. main() 
  { 
   int i =10, j = 20; 
   printf("%d, %d\n", j-- , --i); 
   printf("%d, %d\n", j++ , ++i); 
  } 
  
a. 20, 10, 20, 10 
b. 20, 9, 20, 10 
c. 20, 9, 19, 10 
d. 19, 9, 20, 10  

26. main() 
  { 
  int x=5; 
  for(;x==0;x--) { 
  printf(“x=%d\n”, x--); } 
 } 
a. 4, 3, 2, 1, 0 
b. 1, 2, 3, 4, 5 
c. 0, 1, 2, 3, 4 
d. none of the above  

27. main() 
  { 
  int x=5; 
  for(;x!=0;x--) { 
  printf(“x=%d\n”, x--); } 
  } 
a. 5, 4, 3, 2,1 
b. 4, 3, 2, 1, 0 
c. 5, 3, 1 
d. none of the above  

28. main() 
  { 
   int x=5; 
     { 
     printf(“x=%d ”, x--); } 
    } 
a. 5, 3, 1 
b. 5, 2, 1, 
c. 5, 3, 1, -1, 3 
d. –3, -1, 1, 3, 5   

29. main() 
{ 
  unsigned int bit=256; 
  printf(“%d”, bit); } 
   { 
  unsigned int bit=512; 
  printf(“%d”, bit); } 
} 
  
a. 256, 256 
b. 512, 512 
c. 256, 512 
d. Compile error  

30. main() 
   { 
   int i; 
   for(i=0;i<5;i++) 
    { 
    printf("%d\n", 1L << i); 
   } 
 } 
a. 5, 4, 3, 2, 1 
b. 0, 1, 2, 3, 4 
c. 0, 1, 2, 4, 8 
d. 1, 2, 4, 8, 16  

31. main() 
{ 
signed int bit=512, i=5; 
  
for(;i;i--) 
{ 
printf("%d\n", bit = (bit >> (i - (i -1)))); 
} 
} 
512, 256, 128, 64, 32 
b. 256, 128, 64, 32, 16 
c. 128, 64, 32, 16, 8 
d. 64, 32, 16, 8, 4 
   

32. main() 
{ 
signed int bit=512, i=5; 
  
for(;i;i--) 
{ 
printf("%d\n", bit >> (i - (i -1))); 
} 
} 
  
a. 512, 256, 0, 0, 0 
b. 256, 256, 0, 0, 0 
c. 512, 512, 512, 512, 512 
d. 256, 256, 256, 256, 256  

33. main() 
{ 
if (!(1&&0)) 
{ 
printf("OK I am done."); 
} 
else 
{ 
printf(“OK I am gone.”); } 
} 
  
a. OK I am done 
b. OK I am gone 
c. compile error 
d. none of the above  

34. main() 
{ 
if ((1||0) && (0||1)) 
{ 
printf("OK I am done."); 
} 
else 
{ 
printf(“OK I am gone.”); } 
} 
  
a. OK I am done 
b. OK I am gone 
c. compile error 
d. none of the above  

35. main() 
{ 
signed int bit=512, mBit; 
  
{ 
mBit = ~bit; 
bit = bit & ~bit ; 
  
printf("%d %d", bit, mBit); 
} 
} 
  
a. 0, 0 
b. 0, 513 
c. 512, 0 
d. 0, -513  
	   


MAHINDRA BRITISH TELECOM

1. two clocks meet at 12.Next time they meet again after 

Ans 65.45

2. Soldiers form a square .Initially 32 soldiers left.Then 8 .After they could not form a square.Total at the beginning 

options 100,81,49,67

3. Age of Grandfather is the ages of 4 grandchildren where their ages are in consective.Find the age of GF. 

I think 72

4. 3 person waiting for the train Some conditions given.Finally they ask the time.

Ans is 4.37

5. Some Squirrel qs where it covers 1/4 th distance then 1/2 i couldnt remember

6. if mpown=121. Then m-1pown+1 is 1000

7. if speed  in the ratio 5:4:3 then the time taken to cover the same distance is

8. 20men construct a wall 56m in some days similar one ans 49 (check aggarwal)

 

 

Technical

9. char *p=(char *)10

op=?

10. Running time of 8T(n/2)+q is ncube Scope of static and automatic var 2qs nodes in binary tree of length 4 is 15(2pown -1) how to convert 2d array to single dimension 

options are 

11. convering a row 2 colunm 3 or both in to o's comments-for documentaion or it increases file size like that.u have toi choose the correct one

H R Interview

1. Tell me about your self ? Family background ?
2. Why do u want to join MBT? 
3. What qualities do u have to be selected today ?
4. What technical skills have u acquired? hobbies/interests ?
5. what do u know abt MBT
6. will u have any problems relocating to Mumbai/Pune ?
7. Any plans of higher studies ? ( Again a solid NO!)
8. which was the last book u read?what did u like in it ?
9. Tell me about the ups and downs that u have seen in ur life
10. would you marry a pop star?
11. Are you interested in politics? did u vote this time ? do u think we should vote ?
12. Do you read newspaper?tell me 2 recent incidents in news that have affected You?
13. If u r standing on the roof with ur 4-5 yr old bro/sis and looking at the moon and suddenly the moon is
enveloped by clouds and ur bro asks u what happned? then how will u explain the hiding of moon behind the clouds to him ?
14. In the end they asked if there was something that I wanted to ask them ? 
ARITHMETIC SECTION
This section consists of 29 problems. The questions are simple though time consuming. 
1. If a boat is moving in upstream with velocity of 14 km/hr and goes downstream with a velocity of 40 km/hr, then what is the speed of the stream ?

(a) 13 km/hr
(b) 26 km/hr
(c) 34 km/hr
(d) none of these                                                                                                
Ans. A

2. Find the value of ( 0.75 * 0.75 * 0.75 - 0.001 ) / ( 0.75 * 0.75 - 0.075 + 0.01)

(a) 0.845
(b) 1.908
(c) 2.312
(d) 0.001

Ans. A

3. A can have a piece of work done in 8 days, B can work three times faster than the A, C can work five times faster than A. How many days will they take to do the work together ?

(a) 3 days
(b) 8/9 days
(c) 4 days
(d) can't say

Ans. B

4. A car travels a certain distance taking 7 hrs in forward journey, during the return journey increased speed 12km/hr takes the times 5 hrs.What is the distance travelled

(a) 210 kms
(b) 30 kms
(c) 20 kms
(c) none of these

Ans. B

5. Instead of multiplying a number by 7, the number is divided by 7. What is the percentage of error obtained ?

6. Find (7x + 4y ) / (x-2y) if x/2y = 3/2 ?

(a) 6
(b) 8
(c) 7
(d) data insufficient

Ans. C

7. A man buys 12 lts of liquid which contains 20% of the liquid and the rest is water. He then mixes it with 10 lts of another mixture with 30% of liquid.What is the % of water in the new mixture?


8. If a man buys 1 lt of milk for Rs.12 and mixes it with 20% water and sells it for Rs.15, then what is the percentage of gain?


9. Pipe A can fill a tank in 30 mins and Pipe B can fill it in 28 mins.If 3/4th of the tank is filled by Pipe B alone and both are opened, how much time is required by both the pipes to fill the tank completely ?

10. If on an item a company gives 25% discount, they earn 25% profit. If they now give 10% discount then what is the profit percentage.                                                                                             

(a) 40%
(b) 55%
(c) 35%
(d) 30%

Ans. D 

11. A certain number of men can finish a piece of work in 10 days. If however there were 10 men less it will take 10 days more for the work to be finished. How many men were there originally?

(a) 110 men
(b) 130 men
(c) 100 men
(d) none of these

Ans. A 

12. In simple interest what sum amounts of Rs.1120/- in 4 years and Rs.1200/- in 5 years ?

(a) Rs. 500
(b) Rs. 600
(c) Rs. 800                                                                                                                
(d) Rs. 900

Ans. C 

13. If a sum of money compound annually amounts of thrice itself in 3 years. In how many years 
will it become 9 times itself.

(a) 6
(b) 8
(c) 10
(d) 12

Ans A 

14. Two trains move in the same direction at 50 kmph and 32 kmph respectively. A man in the slower train 
observes the 15 seconds elapse before the faster train completely passes by him.
What is the length of faster train ?

(a) 100m
(b) 75m
(c) 120m
(d) 50m

Ans B 

15. How many mashes are there in 1 squrare meter of wire gauge if each mesh
is 8mm long and 5mm wide ?

(a) 2500
(b) 25000                                                                                                             
(c) 250
(d) 250000

Ans B

16. x% of y is y% of ?

(a) x/y
(b) 2y
(c) x
(d) can't be determined

Ans. C

17. The price of sugar increases by 20%, by what % should a housewife reduce the consumption of sugar so that expenditure on sugar can be same as before ?

(a) 15%
(b) 16.66%
(c) 12%
(d) 9%

Ans B 

18. A man spends half of his salary on household expenses, 1/4th for rent, 1/5th for travel expenses, the man deposits the rest in a bank. If his monthly deposits in the bank amount 50, what is his monthly salary ?

(a) Rs.500
(b) Rs.1500                                                                                                          
(c) Rs.1000
(d) Rs. 900

Ans C 

20. The population of a city increases @ 4% p.a. There is an additional annual increase of 4% of the population due to the influx of job seekers, find the % increase in population after 2 years ? 

21. The ratio of the number of boys and girls in a school is 3:2 Out of these 10% the boys and 25% of girls are scholarship holders. % of students who are not scholarship holders.?

22. 15 men take 21 days of 8 hrs. each to do a piece of work. How many days of 6 hrs. each would it take for 21 women if 3 women do as much work as 2 men?

(a) 30
(b) 20
(c) 19
(d) 29

Ans. A

23. A cylinder is 6 cms in diameter and 6 cms in height. If spheres of the same size are made from the material obtained, what is the diameter of each sphere?

(a) 5 cms
(b) 2 cms
(c) 3 cms                                                                                                                
(d) 4 cms

Ans C 

24. A rectangular plank (2)1/2 meters wide can be placed so that it is on either side of the diagonal of a square shown below.(Figure is not available)What is the area of the plank?

Ans :7*(2)1/2 

25. The difference b/w the compound interest payble half yearly and the simple interest on a 
certain sum lent out at 10% p.a for 1 year is Rs 25. What is the sum?

(a) Rs. 15000
(b) Rs. 12000
(c) Rs. 10000
(d) none of these

Ans C 

26. What is the smallest number by which 2880 must be divided in order to make it into a 
perfect square ?

(a) 3
(b) 4
(c) 5 
(d) 6 

Ans. C

27. A father is 30 years older than his son however he will be only thrice as old as the son after 5 years
what is father's present age ?

(a) 40 yrs
(b) 30 yrs                                                                                                           
(c) 50 yrs
(d) none of these

Ans. A


28. An article sold at a profit of 20% if both the cost price and selling price would be Rs.20/- the profit would be 10% more. What is the cost price of that article?

29. If an item costs Rs.3 in '99 and Rs.203 in '00.What is the % increase in price?

(a) 200/3 %
(b) 200/6 %
(c) 100%
(d) none of these

Ans. A

 

LOGICAL SECTION
Directions: For questions 30-39 fill the missing number or letter in the given series
30. a, c, e, g, _

(a) h
(b) i
(c) d                                                                                                          
(d) j

Ans. B


31. a, e, i, m, q, u, _, _

(a) y,c
(b) b,f
(c) g,i
(d) none

Ans. A 

32. ay , bz , cw , dx ,__

(a) gu
(b) ev
(c) fv
(d) eu

Ans. D 

33. 1, 2, 3, 5, 7, 11, __

(a) 15
(b) 9
(c) 13                                                                                                                            
(d) 12

Ans. C (series of prime numbers)  
34. kp , lo , mn , __

(a) nm
(b) np
(c) op
(d) pq

Ans. A 

35. R,M,__,F,D,__

(a) I, C
(b) A, Q
(c) L, N
(d) B, Q

Ans. A 

36. ___, ayw, gec, mki, sqo 

(a) awx
(b) usq
(c) prs
(d) lmn

Ans. B 

37. 1, 3, 4, 8, 15, 27, __

(a) 60
(b) 59
(c) 43
(d) 50

Ans D 

38. 0, 2, 3, 5, 8, 10, 15, 17, 24, 26,__

(a) 45
(b) 55
(c) 35
(d) 48

Ans. C 

39. 2, 5, 9, 19, 37,__

(a) 64
(b) 55
(c) 75
(d) 40

Ans C 

Directions for questions 40 to 45: Select the alternative that logically follows form the two given statements.
40. All scientists are fools. All fools are literates.

(a)All literates are scientists
(b) All scientists are literates
(c) No scientists are literates
(d) Both (a) and (b) are correct

Ans. B

41. No apple is an orange. All bananas are oranges.

(a) All apples are oranges
(b) Some apples are oranges
(c) No apple is a banana
(d) None of the above

Ans. A

42. All pens are elephants. Some elephants are cats.

(a) Some pens are cats 
(b) No pens are cats
(c) All pens are cats
(d) None of the above

Ans. D

43. All shares are debentures.No debentures are deposits.

(a) All shares are deposits 
(b) Some shares are deposits
(c) No shares are deposits 
(d) None of the above

Ans. C 

44. Many fathers are brothers. All brothers are priests.

(a) No father is a priest
(b) Many fathers are not priests
(c) Many fathers are priests
(d) Both (b) and (c)

Ans. B 

45. Some green are blue. No blue are white.

(a) No green are white
(b) Some green are white
(c) No green are white
(d) None of the above

Ans. B 

46. If the word "CODING" is represented as DPEJOH , then the word "CURFEW" can be represented?

(a) dvsgfx
(b) dvshfx
(c) dgshfx
(d) dtsgfy

Ans. A 

47. If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as 123678, then the code for the word "MANGO" would be 

(a) 82357
(b) 84563                                                                                                         
(c) 82346
(d) 82543

Ans. D 

Directions for questions 48-50:The questions are based on the following data

In a class of 150 students 55 speak English;85 speak Telugu and 30 speak neither English nor Telugu

48. How many speak both English and Telugu?

(a) 10
(b) 15
(c) 20
(d) 12

Ans. C 

49.How many speak only Telugu?

(a) 55
(b) 45
(c) 65
(d) none of the above

Ans.C 

50.How many speak at least one of the two languages?

(a) 120
(b) 100 
(c) 250
(d) 50

Ans. A 


Refer R.S Agarwal books for more questions of the same kind
Verbal -- Page 254 problems 53 to56
                246 eg.2
                Page 104 Exercise.3a (Series Questions)
                Page 354-355 8,13,
                Page 115

Nonverbal -- Pages 5,41,54,108,145,158

1. Which of the following statement(s) is(are) not true
a. Literate workers have small families than illiterate workers.
b. Families with 2 or less than 2 children are commoner than families with 3 or more children.
c. 2 children families constitute 60% of the families of workers.
d. More the no. of children a worker has the more illiterate he is. 
e. None the above statement is true. Ans : e     
                  

2. Of a mutual instrument vibrate 6,8 & 12 intervals respectively. If all three vibrate together what is the time interval before all vibrate together again? Ans : 1/2 sec HCF of DR 

3. Certain no. of men can finish a piece of work in 10 days. If however there were 10 men less it will take 10 days more for the work to be finished. How many men were there originally. Ans : 110 men

4. In simple interest what sum amounts of Rs.1120/- in 4 years and Rs.1200/- in 5 years. Ans : Rs.800/-
Sum of money at compound interest amounts of thrice itself in 3 years. In how many years will it take 9 times itself. Ans : 6

5. Two trains in the same direction at 50 & 32 kmph respectively. A man in the slower train observes the 15 seconds elapse before the faster train completely passes him. What is the length of faster train ? Ans : 75m
 How many mashes are there in a sq. m of wire gauge. Each mesh being 8mm long X 5mm width
Ans : 25000

6. x% of y is y% of ? Ans : x

7. The price of sugar increases by 20%, by what % house-wife should reduce the consumption of sugar so that expenditure on sugar can be same as before Ans : 16.66

8. A man spending half of his salary for house hold expenses, 1/4th for rent, 1/5th for travel expenses, a man deposits the rest in a bank. If his monthly deposits in the bank amount 50. What is his monthly salary ?
 Ans : 1000            
                                                    

9. The population of a city increases @ 4% p.a. That is an additioanl annual increase of 4% of the population due to this influx of job seekers, the % increase in population after 2 years is 

10. The ratio of no. of boys & girls in a school is 3:2 Out of these ?% the boys & 25% of girls are scholarship holders. % of students who are not scholarship holders.? 

11. 15 Men take 21 days of 8 hrs. each to do a piece of work. How many days of 6 hrs. each would do if 21 women take. If 3 women do as much work of 2 men. Ans : 30

12. A cylinder ingot 6cms in diameter and 6 cms in height is and spheres all of the same size are made from the material obtained.what is the diameter of each sphere? Ans :3cms

13. Rectangular plank of sqrt(2)meters wide can be placed so that it is on either side of the diagonal of a square shown below.what is the area of the plank? Ans :7sqrt(2) fig no-

14. The difference b/w the compound interest payble half yearly and the simple interest on a certain sum cont out at 10% p.a for 1 year is Rs 25 what is the sum Ans:10,000

15. what is the smallest n0 by which 2880 must be divided in order to make it a perfect square ? 
a)3 b)4 c)5 d) 6 e)8 Ans: 3

16. A father is 30 times more than his son however he will be only thrice as old as the son what is father's present age ?Ans : 40

17. An article sold at a profit of 20% if both the c.p & s.p were tobe Rs.20/- the profit would be 10% more. What is the c.p of that article? Ans : 1% loss

18. How can a process be started automatically in UNIX ? ANS : Through CRONTAB { options were crontab, inittab, and two more }

19. What is the meaning of run level 6 ? ANS. Reboot

20. How can you determine which file has generated the CORE ? 
Options were.. 
1.ps -ef | grep core 
2.ps -ef | grep <executable file name > Freshersworld.com
3.pfile core 
4.filec core 

21. Diff.between inlinefunction((++)-macns(c)     
               

22. 3 to 4 questions on conditional operator :?:

23. Write a macro for sqaring no.

24. Trees -3 noded tree ( 4 to 5 questions fundamentals) Maximum possible no.of arrnging these nodes

25. Arrange the nodes in depth first order breadth first order

26. Linked lists Q) Given two statments

27. Allocating memory dynamiccaly

28. Arrays Tree the above both and find the mistake

29. Pointers (7 to 8 questions) Schaum series Pointer to functions, to arrays 4 statements ->meaning,syntax for another 4 statements

30. Booting-def(When you on the system the process that takes place is ------

31. Type of global variable can be accessible from any where in the working environment ( external global variable)

32. Which of the following can be accessed randomly Ans. a. one way linked list
b. two way "                        
c. Arrays
d. Trees

33. Write a class for a cycle purchase(data items req.) 

The test was aptitude: 55 min,, (68 quest)  (6 section,) 
1    10    15       small logical/mathematical quiz (most of from old paper
2    10    10    numerical series completion and visual series completion[3 quest repeated from 
                    old papers]
3    10    16   [mix type quest,, such as reasoning (e.g. all A r B, all B r C so all A r C ,,some 
                     C r A etc..,, one quiz followed by 4 quest]    
4    10    9   [2 flow chart: means,, one puzzle was described as steps of flow chart, and condition 
                 was also given,, in flow chartsome fields were having ? ,, u have to select appropriate 
                 option from the given option to place instead of ? ,so that logic is correct...2nd flow chart
                 was very easy(4 quest),, while in 1st first 3 were easy rest 2 were not hard, but very 
                 time consuming,, 
5    10    8   [RC, really tough,, 5 minute to read long (with lot of data of course) the rc and remember
                  whatever u can,, followed by 9/8 quest in 5 minutes,
6    5    10   [data sufficiency,, very easy and scoring section, but only 5 minutes to answer 10 
                  quest...] 
                   no section cut off
                   only overall cut off
                      strictly 1:1 -ve marking...
shortlisted candidates will be informed by email within 10 days for HR & Technical Int...
test was only for BE (CSE,IT ,IS) and BSc(maths, chemi, physics,,, and one other discipline) ,No EC,ECT, or MCA,,,, 2002 and 2003 passouts, 60% or more aggregate at ssc,hsc and BE, should be cleared on 1st attempt.. 
some of quest I remember:    
                                                                          
1.     if M person r buying a thing costing  D$ each,, if 3 person get away,, how much each person has
         to spend so that total expenditure is same ???
 2. which is smalest?
        a.    1/7
        b    1/8
        c    2/9
        d    3/13 ...or something similar having denom. as 11 and 13 in option "d" and "e"
 3.    if Rix can collect 45 pieces in 1 min.. and Rax take 1 and half minute for same,, what is time 
       require d to collect 300 pieces when both working together??
4.    one long quiz followed by 5 quest... 3 cages having 3 tags on them, sum of digit of cage num not
       to exceed 10,    and other cond...
5.     one quest of grandfather-father-son type quest..                                                             
6.     A is shortr than B but taller than E, D is tallest, C is just shorter than A, who is shorttest or similar 
       quest...?
7.    rectangualr box,, 25*20*2 converted in to cylinder of dia 10... what is height in terms of "pai"
                section 2: series...
1.    find the numer for ?   
2.    find the numer for ?
3    1,3,4,8,15,27,?
4.    2,5,9,19,37,?
5.    these were reapeat from old quest...                                                                
           section 3.   
        simple reasoning,4-5 quest. 
        1 quest followed by 3 quest. 
        1 quest followed by 3/4 quest.other quiz...
        section 4.  
   2flowchart .. 2nd was, A & B drawing ball. 2 ball Red & yellow,, if red is the drawen ball 100 points r awaredrd,otherwise 200 points awareded... if A or B score 500,, their points r forfieted,,
if A or B score 1000 or more, he is winner... 
 four quest based on this puzzle, given as missing ? in flowchart
 section 5.    RC related to turnover of companies etc...(8 quest)
section 6    data sufficiency   
1.    whether n is odd? 
    a.    m+5n is odd 
    b.    2m+9n is odd 
these quest were easy, but u required speed to attend all 
  

1. There are total 15 people. 7 speaks french and 8 speaks spanish. 3 do not speak any language. Which part of total people speaks both languages.
Ans: 1/5 

2. A jogger wants to save ?th of his jogging time. He should increase his speed by how much %age.
Ans: 33.33 % 

3. A is an integer. Dividing 89 & 125 gives remainders 4 & 6 respectively. Find a ?
Ans: 17 

4. In a office work is distribute between p persons. If 1/8 members are absent then work increased for each person. 

5. Question based on cubes. In which fill the blank box.                                

6. 120, 315, 300, 345, ? ---- 390 

7. 2,1, 4, 3, 6, 6, 8, 10, 10, ?, ? --- 12, 15 

8. Questions based on figure rotation  

9. Questions based on figure rotation  

10. A Child is saying numbers 1, 2, 3, 4. When he says 1 Another child puts white marble in a box. On saying 2 he puts Blue marble and on saying 3 he puts red ma rble. When child says 4 other child take out white and blue marble. Child says some no. in a sequence then questions are based on the no. of marbles in the box. Like this 
1,1,2,3,1, 4, 1,1,3,2,2,4,111?
a) Find the no. of Blue marble in the box ?..2
b) Find the no. of White --------do----------- ----2
c) No. of red marbles ------- 7 

11. Questions based on logical reasoning (R. S. Agrawal)
a) all pens are hens. All hens are doctor.
(I) all pens are doctor.
(II) all doctors are pen.
Ans: Only first conclusion is correct                                                        

12.  if M person r buying a thing costing D$ each,, if 3 person get away,, how much each person has to spend so that total expenditure is same ??? 

13. which is smallest?
a. 1/7
b 1/8
c 2/9
d 3/13 ...or something similar having denominations as 11 and 13 in option "d" and "e" 

14. f Rix can collect 45 pieces in 1 min.. and Rax take 1 and half minute for same,, what is time require d to collect 300 pieces when both working together?? 

15. One long quiz followed by 5 quest... 3 cages having 3 tags on them, sum of digit of cage num not to exceed 10, and other cond. 

16. one quest of grandfather-father-son type quest.                                   

17. A is shorter than B but taller than E, D is tallest, C is just shorter than A, who is shortest or similar quest...? 

18. Rectangular box,, 25*20*2 converted in to cylinder of dia 10... what is height in terms of "pai" 

  

Test Pattern.

The paper was divided into 6 sections and each section had to be completed in 10 min.You cannot move forwards backwards. After every 10 min.
Section 1 : Quantitative Maths 10th level maths, the type of ques that come in CAT exams. 
Age problem,time & speed,simple trigonometry,algebra,mensuration,time & work, profit &loss, percentage.
Section 2 : Logical Reasoning ques based on series, coding, blood relations , analogy
Section 3 : English Usage & verbal logic Parajumbles, antonym-synonyms, analogy You need to have a good vocabulary for this section.
Section 4 : Data Interpretation There were three sets of problems based on pie chart, 
Section 5 : Reading Comprehension7 mins were given to read the passage and 3 mins for answering the questions. you are not allowed to turn back to the passage while answering the ques.
Section 6 : Logic There were 2 flowcharts and some questions based on them. it was the easiest section and all the questions in this section could be attempted correctly.
There were total 80 questions that had to be attempted in 60 mins. The main thing to remember was 1:1 negative marking. So attempt only what you know.
   Interview
 It was supposed to be a two phase process -- one technical interview and one HR interview , but the focus in both interview was HR only. Even during technical interview mostly HR based ques.
MICROSOFT

What? 

Here is a set of questions that I have with me which software guys have asked at interviews in the past, most of them are actually from Microsoft but a few have been pulled together from other places too. I have collected these from friends and would welcome any additions from you. Do send me your solutions, but the intent of this page is to kindle enough interest in you to try similar logic and programming questions.
PLEASE DO NOT REQUEST ME FOR MORE SOLUTIONS!

Why?
I have grown up reading Martin Gardner's Scientific American columns on Mathematical Games and interesting mathematics olympiad problems in high school. I discovered, to my delight, Bentley's Programming Pearls and David Gries' The Science of Programming in my computer science education. There is underlying beauty in mathematics and computer science. Some find it and others hate the subjects. When I found some of the Microsoft interview questions in graduate school, they were similar to mathematical puzzles that I was interested in. I started collecting them more as an illustration of interesting logic puzzles and algorithms in programming, than as an interview aid. If it has morphed into an interview questions page, that is more due to interest from all interviewees out there.

Some of the programming questions have a basic foundation in mathematics and algorithms. If the given data structure has a specific amount of information and the question asks you to extract/modify the given information, it is possible (though not always obvious) to find optimal solutions, and prove that it cannot be done any better, by quantifying the information content. But, there are always elegant and ugly ways to extract the same information. When you manage to find out the optimal solution to a problem, it usually not only turns out to be elegant, but also has the "aha!" factor to it. Try proving on paper the following question from my undergraduate mid-term:

1. Everyone Loves All Lovers
2. Romeo Loves Juliet
Therefore, prove (i.e. 1 AND 2 => 3)
3. I Love You
How?
To answer one of the more frequent questions that I get: No! I have never interviewed at Microsoft. In fact, I work in a microprocessor company far removed from any software development (though I work mostly in programming). However, I have had two of my roommates and two more housemates eventually working in Microsoft, in addition to a large number of friends. None of them have contributed to this page AFTER they started working at Microsoft. Microsoft itself does not hold any patents and nor has it invented most of the questions. Most of them come from mathematics and physics books, party puzzles, programming lore and standard textbooks. I know many companies ask similar questions, though Microsoft might have made the practice more common (especially with the manhole cover type of questions).

Usage
I have spent some time in collecting with the intention of their value as a practice session. They are not meant to be exact questions that you need to know and answer in an interview. They are supposed to make you think! Discuss with your friends, colleagues, professors for answers (get your tuition money's worth). I have left the page in simple text format so you can print them out and try them on your flight to the interview in case you are pressed for time. One of the strangest phone calls I remember is from a girl, staying up in a Microsoft provided hotel room in Redmond the night before the interview, asking me about the solution for one of the questions from this page. I hope the rest of you are saner (or do not have my phone number).

· Puzzles, Riddles, etc. 

· Programming Questions 

· Computer Networks, Databases, etc. 

· Computer Architecture 

Puzzles, Riddles and Others

 

0. Classic: If a bear walks one mile south, turns left and walks one mile to the east and then turns left again and walks one mile north and arrives at its original position, what is the color of the bear.

ANS. The color of the bear is trivial. The possible solutions to it are interesting. In addition to the trivial north pole, there are additional circles near south pole. Think it out.

* 1. Given a rectangular (cuboidal for the puritans) cake with a rectangular piece removed (any size or orientation), how would you cut the remainder of the cake into two equal halves with one straight cut of a knife?

ANS. Join the centers of the original and the removed rectangle. It works for cuboids too! BTW, I have been getting many questions asking why a horizontal slice across the middle will not do. Please note the "any size or orientation" in the question! Don't get boxed in by the way you cut your birthday cake :) Think out of the box.

2. There are 3 baskets. one of them have apples, one has oranges only and the other has mixture of apples and oranges. The labels on their baskets always lie. (i.e. if the label says oranges, you are sure that it doesn't have oranges only,it could be a mixture) The task is to pick one basket and pick only one fruit from it and then correctly label all the three baskets.

HINT. There are only two combinations of distributions in which ALL the baskets have wrong labels. By picking a fruit from the one labeled MIXTURE, it is possible to tell what the other two baskets have.

3. You have 8 balls. One of them is defective and weighs less than others. You have a balance to measure balls against each other. In 2 weighings how do you find the defective one?

4. Why is a manhole cover round?

HINT. The diagonal of a square hole is larger than the side of a cover!

Alternate answers: 1. Round covers can be transported by one person, because they can be rolled on their edge. 2. A round cover doesn't need to be rotated to fit over a hole.

5. How many cars are there in the USA?

6. You've got someone working for you for seven days and a gold bar to pay them. The gold bar is segmented into seven connected pieces. You must give them a piece of gold at the end of every day. If you are only allowed to make two breaks in the gold bar, how do you pay your worker?

7. One train leaves Los Angeles at 15mph heading for New York. Another train leaves from New York at 20mph heading for Los Angeles on the same track. If a bird, flying at 25mph, leaves from Los Angeles at the same time as the train and flies back and forth between the two trains until they collide, how far will the bird have traveled?

HINT. Think relative speed of the trains.

8. You have two jars, 50 red marbles and 50 blue marbles. A jar will be picked at random, and then a marble will be picked from the jar. Placing all of the marbles in the jars, how can you maximize the chances of a red marble being picked? What are the exact odds of getting a red marble using your scheme?

9. Imagine you are standing in front of a mirror, facing it. Raise your left hand. Raise your right hand. Look at your reflection. When you raise your left hand your reflection raises what appears to be his right hand. But when you tilt your head up, your reflection does too, and does not appear to tilt his/her head down. Why is it that the mirror appears to reverse left and right, but not up and down?

10. You have 5 jars of pills. Each pill weighs 10 gram, except for contaminated pills contained in one jar, where each pill weighs 9 gm. Given a scale, how could you tell which jar had the contaminated pills in just one measurement?

ANS. 1. Mark the jars with numbers 1, 2, 3, 4, and 5.
2. Take 1 pill from jar 1, take 2 pills from jar 2, take 3 pills from jar 3, take 4 pills from jar 4 and take 5 pills from jar 5.
3. Put all of them on the scale at once and take the measurement.
4. Now, subtract the measurement from 150 ( 1*10 + 2*10 + 3*10 + 4*10 + 5*10)
5. The result will give you the jar number which has contaminated pill.

11. If you had an infinite supply of water and a 5 quart and 3 quart pail, how would you measure exactly 4 quarts?

12. You have a bucket of jelly beans. Some are red, some are blue, and some green. With your eyes closed, pick out 2 of a like color. How many do you have to grab to be sure you have 2 of the same?

13. Which way should the key turn in a car door to unlock it?

14. If you could remove any of the 50 states, which state would it be and why?

15. There are four dogs/ants/people at four corners of a square of unit distance. At the same instant all of them start running with unit speed towards the person on their clockwise direction and will always run towards that target. How long does it take for them to meet and where?

HINT. They will meet in the center and the distance covered by them is independent of the path they actually take (a spiral).

16. (from Tara Hovel) A helicopter drops two trains, each on a parachute, onto a straight infinite railway line. There is an undefined distance between the two trains. Each faces the same direction, and upon landing, the parachute attached to each train falls to the ground next to the train and detaches. Each train has a microchip that controls its motion. The chips are identical. There is no way for the trains to know where they are. You need to write the code in the chip to make the trains bump into each other. Each line of code takes a single clock cycle to execute.
You can use the following commands (and only these);
MF - moves the train forward
MB - moves the train backward
IF (P) - conditional that's satisfied if the train is next to a parachute. There is no "then" to this IF statement.
GOTO

ANS.
A: MF
IF (P)
   GOTO B
GOTO A
-----
B: MF
GOTO B
Explanation: The first line simply gets them off the parachutes. You need to get the trains off their parachutes so the back train can find the front train's parachute, creating a special condition that will allow it to break out of the code they both have to follow initially. They both loop through A: until the back train finds the front train's parachute, at which point it goes to B: and gets stuck in that loop. The front train still hasn't found a parachute, so it keeps in the A loop. Because each line of code takes a "clock cycle" to execute, it takes longer to execute the A loop than the B loop, therefore the back train (running in the B loop) will catch up to the front train.

Personality

It is best to read some website or a book for questions like these. 

1. Tell me the courses you liked and why did you like them.

2. Give an instance in your life in which you were faced with a problem and you tackled it successfully.

3. What is your ideal working environment.

4. Why do you think you are smart.

5. Questions on the projects listed on the Resume.

6. Do you want to know any thing about the company.( Try to ask some relevant and interesting question).

7. How long do you want to stay in USA and why (I guess non-citizens get this)?

8. What is your geographical preference?

9. What are your expectations from the job. 

	Algorithms and Programming

1. Given a rectangular (cuboidal for the puritans) cake with a rectangular piece removed (any size or orientation), how would you cut the remainder of the cake into two equal halves with one straight cut of a knife ?

2. You're given an array containing both positive and negative integers and required to find the sub-array with the largest sum (O(N) a la KBL). Write a routine in C for the above.

3. Given an array of size N in which every number is between 1 and N, determine if there are any duplicates in it. You are allowed to destroy the array if you like. [ I ended up giving about 4 or 5 different solutions for this, each supposedly better than the others ].

4. Write a routine to draw a circle (x ** 2 + y ** 2 = r ** 2) without making use of any floating point computations at all. [ This one had me stuck for quite some time and I first gave a solution that did have floating point computations ].

5. Given only putchar (no sprintf, itoa, etc.) write a routine putlong that prints out an unsigned long in decimal. [ I gave the obvious solution of taking % 10 and / 10, which gives us the decimal value in reverse order. This requires an array since we need to print it out in the correct order. The interviewer wasn't too pleased and asked me to give a solution which didn't need the array ].

6. Give a one-line C expression to test whether a number is a power of 2. [No loops allowed - it's a simple test.]

7. Given an array of characters which form a sentence of words, give an efficient algorithm to reverse the order of the words (not characters) in it.

8. How many points are there on the globe where by walking one mile south, one mile east and one mile north you reach the place where you started.

9. Give a very good method to count the number of ones in a "n" (e.g. 32) bit number.

ANS. Given below are simple solutions, find a solution that does it in log (n) steps.

Iterative

function iterativecount (unsigned int n) 

begin

  int count=0;   

  while (n)

  begin

     count += n & 0x1 ;

     n >>= 1;

  end

  return count;

end

Sparse Count

function sparsecount (unsigned int n) 

begin

  int count=0;   

  while (n)

  begin

     count++;

     n &= (n-1);

  end

  return count ;

end

10. What are the different ways to implement a condition where the value of x can be either a 0 or a 1. Apparently the if then else solution has a jump when written out in assembly. if (x == 0) y=a else y=b There is a logical, arithmetic and a data structure solution to the above problem.

11. Reverse a linked list.

12. Insert in a sorted list

13. In a X's and 0's game (i.e. TIC TAC TOE) if you write a program for this give a fast way to generate the moves by the computer. I mean this should be the fastest way possible.

The answer is that you need to store all possible configurations of the board and the move that is associated with that. Then it boils down to just accessing the right element and getting the corresponding move for it. Do some analysis and do some more optimization in storage since otherwise it becomes infeasible to get the required storage in a DOS machine.

14. I was given two lines of assembly code which found the absolute value of a number stored in two's complement form. I had to recognize what the code was doing. Pretty simple if you know some assembly and some fundaes on number representation.

15. Give a fast way to multiply a number by 7.

16. How would go about finding out where to find a book in a library. (You don't know how exactly the books are organized beforehand).

17. Linked list manipulation.

18. Tradeoff between time spent in testing a product and getting into the market first.

19. What to test for given that there isn't enough time to test everything you want to.

20. First some definitions for this problem: a) An ASCII character is one byte long and the most significant bit in the byte is always '0'. b) A Kanji character is two bytes long. The only characteristic of a Kanji character is that in its first byte the most significant bit is '1'.

Now you are given an array of a characters (both ASCII and Kanji) and, an index into the array. The index points to the start of some character. Now you need to write a function to do a backspace (i.e. delete the character before the given index).

21. Delete an element from a doubly linked list.

22. Write a function to find the depth of a binary tree.

23. Given two strings S1 and S2. Delete from S2 all those characters which occur in S1 also and finally create a clean S2 with the relevant characters deleted.

24. Assuming that locks are the only reason due to which deadlocks can occur in a system. What would be a foolproof method of avoiding deadlocks in the system.

25. Reverse a linked list.

Ans: Possible answers -

iterative loop
curr->next = prev;
prev = curr;
curr = next;
next = curr->next
endloop

recursive reverse(ptr)
if (ptr->next == NULL)
return ptr;
temp = reverse(ptr->next);
temp->next = ptr;
return ptr;
end

26. Write a small lexical analyzer - interviewer gave tokens. expressions like "a*b" etc.

27. Besides communication cost, what is the other source of inefficiency in RPC? (answer : context switches, excessive buffer copying). How can you optimize the communication? (ans : communicate through shared memory on same machine, bypassing the kernel _ A Univ. of Wash. thesis)

28. Write a routine that prints out a 2-D array in spiral order!

29. How is the readers-writers problem solved? - using semaphores/ada .. etc.

30. Ways of optimizing symbol table storage in compilers.

31. A walk-through through the symbol table functions, lookup() implementation etc. - The interviewer was on the Microsoft C team.

32. A version of the "There are three persons X Y Z, one of which always lies".. etc..

33. There are 3 ants at 3 corners of a triangle, they randomly start moving towards another corner.. what is the probability that they don't collide.

34. Write an efficient algorithm and C code to shuffle a pack of cards.. this one was a feedback process until we came up with one with no extra storage.

35. The if (x == 0) y = 0 etc..

36. Some more bitwise optimization at assembly level

37. Some general questions on Lex, Yacc etc.

38. Given an array t[100] which contains numbers between 1..99. Return the duplicated value. Try both O(n) and O(n-square).

39. Given an array of characters. How would you reverse it. ? How would you reverse it without using indexing in the array.

40. Given a sequence of characters. How will you convert the lower case characters to upper case characters. ( Try using bit vector - solutions given in the C lib -typec.h)

41. Fundamentals of RPC.

42. Given a linked list which is sorted. How will u insert in sorted way.

43. Given a linked list How will you reverse it.

44. Give a good data structure for having n queues ( n not fixed) in a finite memory segment. You can have some data-structure separate for each queue. Try to use at least 90% of the memory space.

45. Do a breadth first traversal of a tree.

46. Write code for reversing a linked list.

47. Write, efficient code for extracting unique elements from a sorted list of array. e.g. (1, 1, 3, 3, 3, 5, 5, 5, 9, 9, 9, 9) -> (1, 3, 5, 9).

48. Given an array of integers, find the contiguous sub-array with the largest sum.

ANS. Can be done in O(n) time and O(1) extra space. Scan array from 1 to n. Remember the best sub-array seen so far and the best sub-array ending in i.

49. Given an array of length N containing integers between 1 and N, determine if it contains any duplicates.

ANS. [Is there an O(n) time solution that uses only O(1) extra space and does not destroy the original array?]

50. Sort an array of size n containing integers between 1 and K, given a temporary scratch integer array of size K.

ANS. Compute cumulative counts of integers in the auxiliary array. Now scan the original array, rotating cycles! [Can someone word this more nicely?]

* 51. An array of size k contains integers between 1 and n. You are given an additional scratch array of size n. Compress the original array by removing duplicates in it. What if k << n?

ANS. Can be done in O(k) time i.e. without initializing the auxiliary array!

52. An array of integers. The sum of the array is known not to overflow an integer. Compute the sum. What if we know that integers are in 2's complement form?

ANS. If numbers are in 2's complement, an ordinary looking loop like for(i=total=0;i< n;total+=array[i++]); will do. No need to check for overflows!

53. An array of characters. Reverse the order of words in it.

ANS. Write a routine to reverse a character array. Now call it for the given array and for each word in it.

* 54. An array of integers of size n. Generate a random permutation of the array, given a function rand_n() that returns an integer between 1 and n, both inclusive, with equal probability. What is the expected time of your algorithm?

ANS. "Expected time" should ring a bell. To compute a random permutation, use the standard algorithm of scanning array from n downto 1, swapping i-th element with a uniformly random element <= i-th. To compute a uniformly random integer between 1 and k (k < n), call rand_n() repeatedly until it returns a value in the desired range.

55. An array of pointers to (very long) strings. Find pointers to the (lexicographically) smallest and largest strings.

ANS. Scan array in pairs. Remember largest-so-far and smallest-so-far. Compare the larger of the two strings in the current pair with largest-so-far to update it. And the smaller of the current pair with the smallest-so-far to update it. For a total of <= 3n/2 strcmp() calls. That's also the lower bound.

56. Write a program to remove duplicates from a sorted array.

ANS. int remove_duplicates(int * p, int size)
{
int current, insert = 1;
for (current=1; current < size; current++)
if (p[current] != p[insert-1])
{
p[insert] = p[current];
current++;
insert++;
} else
current++;

return insert;

}

 

57. C++ ( what is virtual function ? what happens if an error occurs in constructor or destructor. Discussion on error handling, templates, unique features of C++. What is different in C++, ( compare with unix).

58. Given a list of numbers ( fixed list) Now given any other list, how can you efficiently find out if there is any element in the second list that is an element of the first list (fixed list).

59. Given 3 lines of assembly code : find it is doing. IT was to find absolute value.

60. If you are on a boat and you throw out a suitcase, Will the level of water increase.

61. Print an integer using only putchar. Try doing it without using extra storage.

62. Write C code for (a) deleting an element from a linked list (b) traversing a linked list

63. What are various problems unique to distributed databases

64. Declare a void pointer ANS. void *ptr;

65. Make the pointer aligned to a 4 byte boundary in a efficient manner ANS. Assign the pointer to a long number and the number with 11...1100 add 4 to the number

66. What is a far pointer (in DOS)

67. What is a balanced tree

68. Given a linked list with the following property node2 is left child of node1, if node2 < node1 else, it is the right child.
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How do you convert the above linked list to the form without disturbing the property. Write C code for that.
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determine where do A and C go

69. Describe the file system layout in the UNIX OS

ANS. describe boot block, super block, inodes and data layout

70. In UNIX, are the files allocated contiguous blocks of data

ANS. no, they might be fragmented

How is the fragmented data kept track of

ANS. Describe the direct blocks and indirect blocks in UNIX file system

71. Write an efficient C code for 'tr' program. 'tr' has two command line arguments. They both are strings of same length. tr reads an input file, replaces each character in the first string with the corresponding character in the second string. eg. 'tr abc xyz' replaces all 'a's by 'x's, 'b's by 'y's and so on. ANS.
a) have an array of length 26.
put 'x' in array element corr to 'a'
put 'y' in array element corr to 'b'
put 'z' in array element corr to 'c'
put 'd' in array element corr to 'd'
put 'e' in array element corr to 'e'
and so on.

the code
while (!eof)
{
c = getc();
putc(array[c - 'a']);
}

72. what is disk interleaving

73. why is disk interleaving adopted

74. given a new disk, how do you determine which interleaving is the best a) give 1000 read operations with each kind of interleaving determine the best interleaving from the statistics

75. draw the graph with performance on one axis and 'n' on another, where 'n' in the 'n' in n-way disk interleaving. (a tricky question, should be answered carefully)

76. I was a c++ code and was asked to find out the bug in that. The bug was that he declared an object locally in a function and tried to return the pointer to that object. Since the object is local to the function, it no more exists after returning from the function. The pointer, therefore, is invalid outside.

77. A real life problem - A square picture is cut into 16 squares and they are shuffled. Write a program to rearrange the 16 squares to get the original big square.

78.
int *a;
char *c;
*(a) = 20;
*c = *a;
printf("%c",*c);

what is the output?

79. Write a program to find whether a given m/c is big-endian or little-endian!

80. What is a volatile variable?

81. What is the scope of a static function in C ?

82. What is the difference between "malloc" and "calloc"?

83. struct n { int data; struct n* next}node;
node *c,*t;
c->data = 10;
t->next = null;
*c = *t;
what is the effect of the last statement?

84. If you're familiar with the ? operator x ? y : z
you want to implement that in a function: int cond(int x, int y, int z); using only ~, !, ^, &, +, |, <<, >> no if statements, or loops or anything else, just those operators, and the function should correctly return y or z based on the value of x. You may use constants, but only 8 bit constants. You can cast all you want. You're not supposed to use extra variables, but in the end, it won't really matter, using vars just makes things cleaner. You should be able to reduce your solution to a single line in the end though that requires no extra vars.

85. You have an abstract computer, so just forget everything you know about computers, this one only does what I'm about to tell you it does. You can use as many variables as you need, there are no negative numbers, all numbers are integers. You do not know the size of the integers, they could be infinitely large, so you can't count on truncating at any point. There are NO comparisons allowed, no if statements or anything like that. There are only four operations you can do on a variable.
1) You can set a variable to 0.
2) You can set a variable = another variable.
3) You can increment a variable (only by 1), and it's a post increment.
4) You can loop. So, if you were to say loop(v1) and v1 = 10, your loop would execute 10 times, but the value in v1 wouldn't change so the first line in the loop can change value of v1 without changing the number of times you loop.
You need to do 3 things.
1) Write a function that decrements by 1.
2) Write a function that subtracts one variable from another.
3) Write a function that divides one variable by another.
4) See if you can implement all 3 using at most 4 variables. Meaning, you're not making function calls now, you're making macros. And at most you can have 4 variables. The restriction really only applies to divide, the other 2 are easy to do with 4 vars or less. Division on the other hand is dependent on the other 2 functions, so, if subtract requires 3 variables, then divide only has 1 variable left unchanged after a call to subtract. Basically, just make your function calls to decrement and subtract so you pass your vars in by reference, and you can't declare any new variables in a function, what you pass in is all it gets.

Linked lists

* 86. Under what circumstances can one delete an element from a singly linked list in constant time?

ANS. If the list is circular and there are no references to the nodes in the list from anywhere else! Just copy the contents of the next node and delete the next node. If the list is not circular, we can delete any but the last node using this idea. In that case, mark the last node as dummy!

* 87. Given a singly linked list, determine whether it contains a loop or not.

ANS. (a) Start reversing the list. If you reach the head, gotcha! there is a loop!
But this changes the list. So, reverse the list again.
(b) Maintain two pointers, initially pointing to the head. Advance one of them one node at a time. And the other one, two nodes at a time. If the latter overtakes the former at any time, there is a loop!

          p1 = p2 = head;

          do {

               p1 = p1->next;

               p2 = p2->next->next;

          } while (p1 != p2);

88. Given a singly linked list, print out its contents in reverse order. Can you do it without using any extra space?

ANS. Start reversing the list. Do this again, printing the contents.

89. Given a binary tree with nodes, print out the values in pre-order/in-order/post-order without using any extra space. 

90. Reverse a singly linked list recursively. The function prototype is node * reverse (node *) ;

ANS.

    node * reverse (node * n)

      {

         node * m ;

         if (! (n && n -> next))

           return n ;

         m = reverse (n -> next) ;

         n -> next -> next = n ;

         n -> next = NULL ;

         return m ;

      }

91. Given a singly linked list, find the middle of the list.

HINT. Use the single and double pointer jumping. Maintain two pointers, initially pointing to the head. Advance one of them one node at a time. And the other one, two nodes at a time. When the double reaches the end, the single is in the middle. This is not asymptotically faster but seems to take less steps than going through the list twice.

 

Bit-manipulation

92. Reverse the bits of an unsigned integer.

ANS.

    #define reverse(x)                              \

              (x=x>>16|(0x0000ffff&x)<<16,            \

               x=(0xff00ff00&x)>>8|(0x00ff00ff&x)<<8, \

               x=(0xf0f0f0f0&x)>>4|(0x0f0f0f0f&x)<<4, \

               x=(0xcccccccc&x)>>2|(0x33333333&x)<<2, \

               x=(0xaaaaaaaa&x)>>1|(0x55555555&x)<<1)

* 93. Compute the number of ones in an unsigned integer.

ANS.

   #define count_ones(x)                        \

              (x=(0xaaaaaaaa&x)>>1+(0x55555555&x), \

               x=(0xcccccccc&x)>>2+(0x33333333&x), \

               x=(0xf0f0f0f0&x)>>4+(0x0f0f0f0f&x), \

               x=(0xff00ff00&x)>>8+(0x00ff00ff&x), \

               x=x>>16+(0x0000ffff&x))

94. Compute the discrete log of an unsigned integer.

ANS.

#define discrete_log(h) \

 (h=(h>>1)|(h>>2), \

 h|=(h>>2), \

 h|=(h>>4), \

 h|=(h>>8), \

 h|=(h>>16), \

 h=(0xaaaaaaaa&h)>>1+(0x55555555&h), \

 h=(0xcccccccc&h)>>2+(0x33333333&h), \

 h=(0xf0f0f0f0&h)>>4+(0x0f0f0f0f&h), \

 h=(0xff00ff00&h)>>8+(0x00ff00ff&h), \

 h=(h>>16)+(0x0000ffff&h))

If I understand it right, log2(2) =1, log2(3)=1, log2(4)=2..... But this macro does not work out log2(0) which does not exist! How do you think it should be handled? 

* 95. How do we test most simply if an unsigned integer is a power of two?

ANS. #define power_of_two(x) \ ((x)&&(~(x&(x-1))))

96. Set the highest significant bit of an unsigned integer to zero.

ANS. (from Denis Zabavchik) Set the highest significant bit of an unsigned integer to zero
#define zero_most_significant(h) \
(h&=(h>>1)|(h>>2), \
h|=(h>>2), \
h|=(h>>4), \
h|=(h>>8), \
h|=(h>>16))

97. Let f(k) = y where k is the y-th number in the increasing sequence of non-negative integers with the same number of ones in its binary representation as y, e.g. f(0) = 1, f(1) = 1, f(2) = 2, f(3) = 1, f(4) = 3, f(5) = 2, f(6) = 3 and so on. Given k >= 0, compute f(k).

 

Others

98. A character set has 1 and 2 byte characters. One byte characters have 0 as the first bit. You just keep accumulating the characters in a buffer. Suppose at some point the user types a backspace, how can you remove the character efficiently. (Note: You cant store the last character typed because the user can type in arbitrarily many backspaces)

99. What is the simples way to check if the sum of two unsigned integers has resulted in an overflow.

100. How do you represent an n-ary tree? Write a program to print the nodes of such a tree in breadth first order.

101. Write the 'tr' program of UNIX. Invoked as

tr -str1 -str2. It reads stdin and prints it out to stdout, replacing every occurance of str1[i] with str2[i].

e.g. tr -abc -xyz
to be and not to be <- input
to ye xnd not to ye <- output 
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Networks and Security

1. How do you use RSA for both authentication and secrecy?

2. What is ARP and how does it work?

3. What's the difference between a switch and a router?

4. Name some routing protocols? (RIP,OSPF etc..)

5. How do you do authentication with message digest(MD5)? (Usually MD is used for finding tampering of data)

6. How do you implement a packet filter that distinguishes following cases and selects first case and rejects second case.

i) A host inside the corporate n/w makes a ftp request to outside host and the outside host sends reply.

ii) A host outside the network sends a ftp request to host inside. for the packet filter in both cases the source and destination fields will look the same.

7. How does traceroute work? Now how does traceroute make sure that the packet follows the same path that a previous (with ttl - 1) probe packet went in?

8. Explain Kerberos Protocol ?

9. What are digital signatures and smart cards?

10. Difference between discretionary access control and mandatory access control?

 

Java

1. How do you find the size of a java object (not the primitive type) ?

ANS. type cast it to string and find its s.length()

2. Why is multiple inheritance not provided in Java?

3. Thread t = new Thread(); t.start(); t = null; now what will happen to the created thread?

4. How is garbage collection done in java?

5. How do you write a "ping" routine in java?

6. What are the security restrictions on applets?

Graphics

1. Write a function to check if two rectangles defined as below overlap or not. struct rect { int top, bot, left, right; } r1, r2;

2. Write a SetPixel(x, y) function, given a pointer to the bitmap. Each pixel is represented by 1 bit. There are 640 pixels per row. In each byte, while the bits are numbered right to left, pixels are numbered left to right. Avoid multiplications and divisions to improve performance.

 

Databases

* 1. You, a designer want to measure disk traffic i.e. get a histogram showing the relative frequency of I/O/second for each disk block. The buffer pool has b buffers and uses LRU replacement policy. The disk block size and buffer pool block sizes are the same. You are given a routine int lru_block_in_position (int i) which returns the block_id of the block in the i-th position in the list of blocks managed by LRU. Assume position 0 is the hottest. You can repeatedly call this routine. How would you get the histogram you desire?

Hints and Answers

1. Simply do histogram [lru_block_in_position (b-1)] ++ at frequent intervals... The sampling frequency should be close to the disk I/O rate. It can be adjusted by remembering the last block seen in position b. If same, decrease frequency; if different, increase, with exponential decay etc. And of course, take care of overflows in the histogram.

 

Semaphores

1. Implement a multiple-reader-single-writer lock given a compare-and-swap instruction. Readers cannot overtake waiting writers. 

  

Computer Architecture

1. Explain what is DMA?
2. What is pipelining?
3. What are superscalar machines and vliw machines?
4. What is cache?
5. What is cache coherency and how is it eliminated?
6. What is write back and write through caches?
7. What are different pipelining hazards and how are they eliminated.
8. What are different stages of a pipe?
9. Explain more about branch prediction in controlling the control hazards
10. Give examples of data hazards with pseudo codes.
11. How do you calculate the number of sets given its way and size in a cache?
12. How is a block found in a cache?
13. Scoreboard analysis.
14. What is miss penalty and give your own ideas to eliminate it.
15. How do you improve the cache performance.
16. Different addressing modes.
17. Computer arithmetic with two's complements.
18. About hardware and software interrupts.
19. What is bus contention and how do you eliminate it.
20. What is aliasing?
21) What is the difference between a latch and a flip flop?
22) What is the race around condition? How can it be overcome?
23) What is the purpose of cache? How is it used?
24) What are the types of memory management?

MINDTREE

Mindtree Sample test paper 

 The Question consist of quant-aptitude  , logical reasoning , analytical reasoning , and few puzzles 
  Every  Correct answer carry +3 mark and wrong answer carry -1 mark.

1.  A person losses and gains 10% on selling a object for 200.
  ans:he losses 

2. sum of 1 to 100 is divisible by
 1.  1,2,4,8
 2.  2 & 4
 3.  2
 4.  none
 ans: 2 

3. 10 consonants and 4 vowels , how many words with 3 consonants and 2 vowels?
  1) 720 ,   2)7200 ...   

complete series 

4. AZX.... 

5. ABCEFGIJK......( ver easy ) 

6. how many nos start and end with 2 b/w 100 and 300? 

7. If a sphere of dia 3 cm is melted & formed into 3 spheres ,  the diameter of 1st is 1.5cm and that of second is 2.0 cm , what is the  diameter of the third?. 

8. 5 logical reasoning like :: All elephants are trained  a few animals are trained 
..........etc -> refer to IMS material for this 

9. There are 6 steps from 1st floor to 2nd floor A is 2 stes below C B is next to D ONly one step is vacant 
NO 2 people are on any step
Q )if a is on the first step , which of the following are true 

10. 6 people compete in a race A,b,c,d,e,f b is not in the 1st place there are 2 runners b/w d and e a is ahead of d
( one more condition ) and 2 quesitions --very easy 

11. If prizes are increased by 25% , by how much should i reduce the consumption to keep the expenditure same?? 

12. how many factors ( or what nos) divide 6400 1)  24 , 2)  25 3) .... 

13. "COURTESY" - how many words can be constructed with C in the begining and Y at the end 

14. My mother's husband's father in laws son's child->what is the relation? 

15. 3 glasses containing mixture of water and alco in ratio 2:3 , 3:4 , 5:9 when all 3 are mixed what is the new ratio?? 

16. There  is a meeting organized, every person shake hands with the other only once. If there are 60 shake hands,how many persons are there in the meeting?. 

17. A fater has 8 children ,he takes 3 at a time to a zoo.probability of a child going to the zoo. 

18. A father has six children .all the children are born at regular intervels.if the sum of their ages of all the children and father is 186. calculate the age of the elder son, when the younger sons age is 3.  

19. count the numbers between 100 and 300, that starts with 2 and ends with 2.
  Ans: 10. 

20. Some reasoning questions   There are six steps,5 people a,b,c,d,e . conditions are , a is two steps below c,no two people are on same step,b is next to d. 4 Questions based on this 

21. 5 people participating in the race .conditions are given about the positions. 

22. A ball is dropped from a height of 10 feet.Every time it rebounces to half of the height. how many feet it traveled? 

23. There are 3 jars. The ratio of spirit to water in each of these jars is 3:2,4:5,5:7. the three jars are mixed into a single jar. What is the ration of spirit to water in single jar. 

24. What is the relation with your mothr's sister's brother's wife's child with you.? 

25. what is the relation with your mother's husband's father-in-law's son's child with you? 

There is one  programing question. We have to write program(This program will be evaluated if you are qualified forInterview).you will be given choice(ie write one out of two given) 

GD topics. 

1. If both husband and wife are working in the same organization. 

2. coordination between educational institutions and companies. 

3. Linux Vs Microsoft . Which will perish?. 

Here is the Pattern of Mind tree. There is three round of test..
1st Round: APTITUDE TEST: 45 Questions (QUANT AND LOGICAL REASONING) and 1 C Program.
2nd Round: GD(Time 30 minutes,15 members) TOPIC was " Do u think indian IT people are overpaid".
3rd Round: TECHNICAL and HR: Questions on c, operating systems ,c++

MOTOROLA

T here are Three streams 
 1 hardware ( sps)
 2 software (gsg)
 3 dsp
    ppt for 2 hours
    salary 28000
    hardware 13 questions 1hour and 15 minutes                                    
    software 20 questions 
    Hardware questions 

Hardware questions

1. Draw the state transition diagram for sequence detector for the sequence 011. if the first bit detected is zero then SCRH should be asserted when the second bit is 1 the SCRH should remain asserted when the third bit is 1 the FOUND should be asserted and the SCRH should be disasserted. No bits should be left. 

2. ts=0.5 and Th=0.7 (for the this is the setup time reqd and hold time reqd)
buffer has the delay of 1nsec 
what is the setup time _________ns
what is the hold time ___________ns
  a.
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3.   for Each gate delay time is 0.5 ns                                         
   [image: image6.jpg]<1




         a.  For each gate the delay time is 0.5 ns when will the glitch occur draw the glitch waveform.

          b. How the circuit should be modified to avoid glitch.

4. describe the driving inverter? What inverter is weak and which has more strength? why?
   [image: image7.jpg]



5. what is the output of the following circuit?
[image: image8.jpg]10




6. Draw the output waveform for the following ckt   Vtp=Vtn=1V
    [image: image9.jpg]



7. obtain expression for the output (the i/ps may not be in correct order)            
[image: image10.jpg]



8. Determine the output waveform  input is
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         a.  What is the output waveform 
         b.  What will happen when the AND gate is replaced by OR gate           
                 [image: image14.jpg]o
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10. using 2:1 Mux and one inverter make XOR gate 

11. using 2:1 Mux make a transparent latch (D f/f) 

12. Design a ckt such that f (clk_out)=2 f (CLK_in) that is frequency doubling circuit is needed
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13. Find the outputs of the following ckts
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         a).   assume Vt = threshold voltage 
         b). [image: image17.jpg]
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             Software questions:
       Totally 20 questions were asked 
   * Most of them from C and datastructures (in equal nos)                    
   * few from c++ 

1. Numbers sequential search has to compare ______ elements on worst and _______numbers on an average 

2.   

3. Which of the following algorithm is not applicable for lived list representation of numbers
   1. binary search   2. Sequential search   3. Selection sort 

4. program to reverse a linked list all the variables 3 left pair of statements they give, we have to write the logic part 
i.e. live 
typedef struct link 
{
int element;
struct link *next;
}code;
struct link rev(node *p)
{
node *t;
node *r=0;
while(p!=___)
{
t=____;
p=_____;
r=______;
}
return=______ 

5. exactly same type of question to check whether the given string is palindrome or not 

6. they gave one program and asked what it is (it is fibonacci series) 

7. int i=7;
printf(“%d”,i++*i++); what is the answer 

8. int i=7;
printf(“%d”,i++*i++); what is the answer
7. struct code
{ int I;
int t;
}
/* some code */
main()
{

}
what is wrong ?
semicolon is missing after structure declaration 

9. Selection sort  for N elements the no of comparisions needed and no of swapping  

10. One question from heap sort 

11. One question about breadth search                                          
12. what is a language 
* set of alphabet 
* combination of alphabet 
* strings of some alphabet 

MPHASISBFL

BFL PAPER (COMPUTER AWARENESS TEXT) (45QUESTIONS ,+1,-1/4,45MIN)
    (ITH IN BRACKETS ANSWERS)
1. In the command scanf, h is used for
Ans. Short int 

2. A process is defined as
Ans. Program in execution 

3. A thread is
Ans. Detachable unit of executable code) 

4. What is the advantage of Win NT over Win 95
Ans. Robust and secure 

5. How is memory management done in Win95
Ans. Through paging and segmentation 

6. What is meant by polymorphism
Ans. Redfinition of a base class method in a derived class 

7. What is the essential feature of inheritance
Ans. All properties of existing class are derived 

8. What does the protocol FTP do
Ans. Transfer a file b/w stations with user authentification 

9. In the transport layer ,TCP is what type of protocol
Ans. Connection oriented 

10. Why is a gateway used
Ans. To connect incompatible networks 

11. How is linked list implemented
Ans. By referential structures 

12. What method is used in Win95 in multitasking
Ans. Non preemptive check 

13. What is meant by functional dependency 

14. What is a semaphore
Ans. A method synchronization of multiple processes 

15. What is the precedence order from high to low ,of the symbols ( ) ++ /
Ans.( ) , ++, / 

16. Preorder of A*(B+C)/D-G
Ans.*+ABC/-DG 

17. B-tree (failure nodes at same level) 

18. Dense index (index record appers for every search -key in file) 

19. What is the efficiency of merge sort
Ans. O(n log n) 

20. A program on swaping ( 10,5 )was given (candidate cannot recollect) 

21. In which layer are routers used
Ans.In network layer 

22. In which layer are packets formed ( in network layer ) 

23. heap ( priority queue ) 

24. copy constructor ( constant reference ) 

25. Which of the following sorting algorithem has average sorting behavior --Bubble sort,merge sort,heap sort,exchange sort
Ans. Heap sort 

26. In binary search tree which traversal is used for getting ascending order values--Inorder ,post order,preorder
Ans.Inorder 

27. What are device drivers used for
Ans.To provide software for enabling the hardware 

28. Irrevalent to unix command ( getty) 

29. What is fork command in unix
Ans. System call used to create process 

30. What is make command in unix
Ans. Used forcreation of more than one file 

31. In unix .profile contains
Ans. Start up program 

32. In unix echo is used for ( answer C) 

33. In unix 'ls 'stores contents in
Ans.inode block 

QUANTITATIVE SECTION 
1. In a class composed of x girls and y boys what part of the class is composed of girls

A.y/(x + y)
B.x/xy
C.x/(x + y)
D.y/xy

Ans.C 

2. What is the maximum number of half-pint bottles of cream that can be filled with a 4-gallon can of cream(2 pt.=1 qt. and 4 qt.=1 gal)

A.16
B.24
C.30
D.64

Ans.D 

3. If the operation,^ is defined by the equation x ^ y = 2x + y,what is the value of a in 2 ^ a = a ^ 3

A.0
B.1
C.-1
D.4

Ans.B 

4. A coffee shop blends 2 kinds of coffee,putting in 2 parts of a 33p. a gm. grade to 1 part of a 24p. a gm.If the mixture is changed to 1 part of the 33p. a gm. to 2 parts of the less expensive grade,how much will the shop save in blending 100 gms.

A.Rs.90
B.Rs.1.00
C.Rs.3.00
D.Rs.8.00

Ans.C 

5. There are 200 questions on a 3 hr examination.Among these questions are 50 mathematics problems.It is suggested that twice as much time be spent on each maths problem as for each other question.How many minutes should be spent on mathematics problems

A.36
B.72
C.60
D.100

Ans.B 

6. In a group of 15,7 have studied Latin, 8 have studied Greek, and 3 have not studied either.How many of these studied both Latin and Greek

A.0
B.3
C.4
D.5

Ans.B 

7. If 13 = 13w/(1-w) ,then (2w)2 =

A.1/4
B.1/2
C.1
D.2

Ans.C 

8.   

1. If a and b are positive integers and (a-b)/3.5 = 4/7, then 

(A) b < a
(B) b > a
(C) b = a
(D) b >= a

Ans. A

9. In june a baseball team that played 60 games had won 30% of its game played. After a phenomenal winning streak this team raised its average to 50% .How many games must the team have won in a row to attain this average?

A. 12
B. 20
C. 24
D. 30

Ans. C

10. M men agree to purchase a gift for Rs. D. If three men drop out how much more will each have to contribute towards the purchase of the gift/

A. D/(M-3)
B. MD/3
C. M/(D-3)
D. 3D/(M2-3M)

Ans. D

11. A company contracts to paint 3 houses. Mr.Brown can paint a house in 6 days while Mr.Black would take 8 days and Mr.Blue 12 days. After 8 days Mr.Brown goes on vacation and Mr. Black begins to work for a period of 6 days. How many days will it take Mr.Blue to complete the contract?

A. 7
B. 8
C. 11
D. 12

Ans.C

12. 2 hours after a freight train leaves Delhi a passenger train leaves the same station travelling in the same direction at an average speed of 16 km/hr. After travelling 4 hrs the passenger train overtakes the freight train. The average speed of the freight train was?

A. 30
B. 40
C.58
D. 60

Ans. B

13. If 9x-3y=12 and 3x-5y=7 then 6x-2y = ?

A.-5
B. 4
C. 2
D. 8

Ans. D

ANALYTICAL ABILITY
1. The office staff of XYZ corporation presently consists of three bookeepers--A, B, C and 5 secretaries D, E, F, G, H. The management is planning to open a new office in another city using 2 bookeepers and 3 secretaries of the present staff . To do so they plan to seperate certain individuals who don't function well together. The following guidelines were established to set up the new office
I. Bookeepers A and C are constantly finding fault with one another and should not be sent together to the new office as a team
II. C and E function well alone but not as a team , they should be seperated
III. D and G have not been on speaking terms and shouldn't go together
IV Since D and F have been competing for promotion they shouldn't be a team

1. If A is to be moved as one of the bookeepers,which of the following cannot be a possible working unit.

A.ABDEH
B.ABDGH
C.ABEFH
D.ABEGH

Ans.B 

2. If C and F are moved to the new office,how many combinations are possible

A.1
B.2
C.3
D.4

Ans.A 

3. If C is sent to the new office,which member of the staff cannot go with C

A.B
B.D
C.F
D.G

Ans.B 

4. Under the guidelines developed,which of the following must go to the new office

A.B
B.D
C.E
D.G

Ans.A 

5. If D goes to the new office,which of the following is/are true

I.C cannot go
II.A cannot go
III.H must also go

A.I only
B.II only
C.I and II only
D.I and III only

Ans.D 

2.After months of talent searching for an administrative assistant to the president of the college the field of applicants has been narrowed down to 5--A, B, C, D, E .It was announced that the finalist would be chosen after a series of all-day group personal interviews were held.The examining committee agreed upon the following procedure

I.The interviews will be held once a week
II.3 candidates will appear at any all-day interview session
III.Each candidate will appear at least once
IV.If it becomes necessary to call applicants for additonal interviews, no more 1 such applicant should be asked to appear the next week
V.Because of a detail in the written applications,it was agreed that whenever candidate B appears, A should also be present.
VI.Because of travel difficulties it was agreed that C will appear for only 1 interview.

1. At the first interview the following candidates appear A,B,D.Which of the follwing combinations can be called for the interview to be held next week.

A.BCD
B.CDE
C.ABE
D.ABC

Ans.B 

2. Which of the following is a possible sequence of combinations for interviews in 2 successive weeks

A.ABC;BDE
B.ABD;ABE
C.ADE;ABC
D.BDE;ACD

Ans.C 

3. If A ,B and D appear for the interview and D is called for additional interview the following week,which 2 candidates may be asked to appear with D?

I. A
II B
III.C
IV.EA.I and II
B.I and III only
C.II and III only
D.III and IV only

Ans.D

4. Which of the following correctly state(s) the procedure followed by the search committee

I.After the second interview all applicants have appeared at least once
II.The committee sees each applicant a second time
III.If a third session,it is possible for all applicants to appear at least twice

A.I only
B.II only
C.III only
D.Both I and II

Ans.A

A certain city is served by subway lines A,B and C and numbers 1 2 and 3
When it snows , morning service on B is delayed
When it rains or snows , service on A, 2 and 3 are delayed both in the morning and afternoon
When temp. falls below 30 degrees farenheit afternoon service is cancelled in either the A line or the 3 line,
but not both.
When the temperature rises over 90 degrees farenheit, the afternoon service is cancelled in either the line C or the
3 line but not both.
When the service on the A line is delayed or cancelled, service on the C line which connects the A line, is delayed.
When service on the 3 line is cancelled, service on the B line which connects the 3 line is delayed.
1. On Jan 10th, with the temperature at 15 degree farenheit, it snows all day. On how many lines will service be
       affected, including both morning and afternoon.

(A) 2
(B) 3
(C) 4
(D) 5

Ans. D

2.  of  lines on which service will be affected?

(A) 2
(B) 3
(C) 4
(D) 5

Ans. C

3. On which of the following occasions would service be on the greatest number of lines disrupted.

(A) A snowy afternoon with the temperature at 45 degree farenheit
(B) A snowy morning with the temperature at 45 degree farenheit
(C) A rainy afternoon with the temperature at 45 degree farenheit
(D) A rainy afternoon with the temperature at 95 degree farenheit

Ans. B

 In a certain society, there are two marriage groups, red and brown. No marriage is permitted within a group. On marriage, males become part of their wives groups; women remain in their own group. Children belong to the same group as their parents. Widowers and divorced males revert to the group of their birth. Marriage to more than one person at the same time and marriage to a direct descendant are forbidden
1.  A brown female could have had

I. A grandfather born Red
II. A grandmother born Red
III Two grandfathers born Brown

(A) I only
(B) III only
(C) I, II and III
(D) I and II only

Ans. D

2. A male born into the brown group may have

(A) An uncle in either group
(B) A brown daughter
(C) A brown son
(D) A son-in-law born into red group

Ans. A

3. Which of the following is not permitted under the rules as stated.

(A) A brown male marrying his father's sister
(B) A red female marrying her mother's brother
(C) A widower marrying his wife's sister
(D) A widow marrying her divorced daughter's ex-husband

Ans. B

4. If widowers and divorced males retained their group they had upon marrying which of the following would be permissible ( Assume that no previous marriage occurred)

(A) A woman marrying her dead sister's husband
(B) A woman marrying her divorced daughter's ex-husband
(C) A widower marrying his brother's daughter
(D) A woman marrying her mother's brother who is a widower.

Ans. D

I. All G's are H's
II. All G's are J's or K's
III All J's and K's are G's
IV All L's are K's
V All N's are M's
VI No M's are G's
1. If no P's are K's which of the following must be true

(A) No P is a G
(B) No P is an H
(C) If any P is an H it is a G
(D) If any P is a G it is a J

Ans. D

2. Which of the following can be logically deduced from the stated conditions

(A) No M's are H's
(B) No H's are M's
(C) Some M's are H's
(D) No N's are G's

Ans. D

3. Which of the following is inconsistent with one or more conditions

(A) All H's are G's
(B) All H's are M's
(C) Some H's are both M's and G's
(D) No M's are H's

Ans. C

4. The statement  "No  L's are J's" is

I. Logically deducible from the conditions stated
II Consistent with but not deducible from the conditions stated
III. Deducible from the stated conditions together with the additional statements "No J's are K's"

(A) I only
(B) II only
(C) III only
(D) II and III only

Ans. D

NOVELL

Novell Recruitment test conducted on (20/9/04). There is four section in test. 

1. Aptitude 20 questions 20 minutes 

2.  System comcept 20 questions 15 minutes 

3. C programming 15 questions 20 minutes 

4. Passage on java/internet 10 min 

Aptitude

1. A problem on time and work ,A and b takes 15 days to completer the  work,A takes 30 days so how many days B take? 

2. A question on compound interest with 5 sub questions,simple if u  know the concept. 

3. A question on finding the speed of boat given the speed of upstream and downstream.

 System Concept ( mainly questions from OS,data structures,networks) 

4. Berkeley sockets-ans :connection oreiented. 

5. A question on bankers algorithm 

6. Complexity of hastable 

7. What is Cpu timeslice? 

8. Aquestion on DMA
C programming 

9. One pointer diff is given like this:
int *(*p[10])(char *)
Explain the variable assignment 

10. For the following C program
void fn(int *a, int *b)
{
   int *t;
   t=a;
   a=b;
   b=t;
 }
main()
  {
   int a=2;
   int b=3;
   fn(&a,&b);
   printf("%d,%d", a,b);
 }
What is the output?
a) Error at runtime
b) Compilation error
c) 2 3
d) 3 2 

11. main()
  {
    printf("hello"):
    main();
  }
   what is the output?
   ans :stack overflow 

	Novell Sample Test paper
  Paper consist of  

· OS : 10 Q  

· C  : 10 Q 

· C++:10 Q 

· Java : 10 Q 

  OS is  compulsory and you can choose any one of these three language

 C++ Questions

1. If there is one class template which has one static member variable  that static variable will belong to 
a) Every instance of class template will share the same copy of static variable
b) Every instance of class template will have its own copy of static variable.
c) Compilation error
d) Don't remember. 

2. What is template specialization ???
a) define a new template class for a specific data type.
b)c)d)  

3. How we will overload operator *+= such that
obj1 *+= obj2;  
  implies that 
obj1=obj1*(obj1+obj2);
four choice were there last option was d) it is not possible I checked that option. 

4. In C++ what does the operator overloading means.
  a) Giving new meaning to existing C++ operators
  b) defining functionality of existing C++ operator for user define objects.
  c) defining new operators.
  d) don't remember. 

5.  what is '>>' in C++
  a) right shift operator and insertion operator depend upon the use
  b) right shift operator and extraction operator depend upon the context use
  c) right shift operator and insertion/extraction operator depend upon the use 

6. class A
  {
  int a ,b;
  A() : a(0)
  {
    b=0;}
   };
  if you create obj of this class as A obj;
a) b will be initialized before a 
b) a will be initialized before b
c) both will be initialized together
d) none of these. 

OS Question  (All OS questions were based on basics of UNIX all small -2 commands.)

1. How image of one process can be replaced by other process 
 a) exec 

2. How image of one process can be copied to new born process
 a) fork 

3. How can you list all the files used by a particular process  

4. How do u create a link of file  

C Questions 

1. int main()
  {
  char *a= "Novell";
  char *b;
  b=malloc(10*sizeof(char));
  memset(b,0,10);
  while(*b++=*a++);
  printf("%s",b);
  return 0;
} 

2.  int main() 
{
 printf("Hello");
 fork();
 printf("World");
} 
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ONMOBILE

OnMobile test conducted on  Feb 2005 at Infosys Electronic city of Bangalore.
  Pattern consist of Puzzles only. 

1. There is a farm which contains super hens which r genetically made to lay eggs of double size than the normal ones. But as genetic engg. is not well understood there is only 50-50% chance of a super hen laying large egg.The farm is such tht it keeps the hen as long as it lays large eggs and removes the hen out of the farm as soon as it lays one normal egg. The farm followed the same process for one year and counted all the eggs laid by all the super hens.At the end of the year the ratio of large eggs to the normal ones is?(4m neg-1) 

2. There is bag containing balls of three colors-Red, Green and Yellow and there are three color blind people A, B and C.For A Red is invisible and every other color appears Gray. For B Green is invisible and every other color appears Gray. For A Yellow is invisible and every other color appears Gray.

They were shown the box and when asked the question what can see their replies were
A: I can see two balls.
B: I can see two balls.
C: I can see two balls.
How many balls were there in the box and of what color? (5m neg-2) 

3. There is a temple on the top of the hill of height 1000mtrs.Coconuts at the base of the hill are sold at 5/- each and at the top of the hill at 50/- each. One intelligent businessman thought of buying coconuts at the base and selling them at the top. For that he appointed 2 people who can carry only 1000 coconuts at a time and takes 1 coconut for every mtr of walk.
Can he succeed in his plan. If yes how much profit he earns for a rupee of investment? (7m neg-2) 

4. In the 2nd world war Japan’s war ship named J was followed by the USA war ship U which is traveling at 100kmph. By the time U was beside J and ready to launch the torpedo, the place was surrounded by fog and the army-general in U could not see anything. Taking this as a chance J changed in direction at an angle. After 6min the general in U realized it and informed the helicopter over it to find J. After 3 minutes the helicopter replied that J turned at an angle 45 degrees and was 5km away from U at the time when the general asked for it. The intelligent general quickly turned U and successfully caught J. 
How much time “U” would have taken to catch “J”? (8m neg-2)
Note: (You can save time by mentioning the formula). 

5. Two mathematicians met after 27 years in their college. This was their conversation.
First: How are you doing?
Second: Fine I got married and have three daughters.
First: Fine. I also got married 2 years after the college. How old are your daughters?
Second: Well, Product of their ages is 72 and their sum is equal to that house number (It was not mentioned). 
First: Wait, I am still counting.
Second: Sorry, youngest of them has just started walking.
First: Is it! Youngest of mine is also of the same age.
How old are the three daughters? (12m neg-3)  

6. A boy got bored of the class and started walking on a hall which contained 1024 lockers in a row. He first opened locker 1 and alternatively left one and opened one from thereon. When he reached the end he turned back and opened the first closed locker and from thereon continued what he did previously. He did this back and fro method till he opened the last locker.What is the number of the last locker he opened? (12m neg-3)  

7. There is a slowrun express tht runs btw bangalore & mumbai...it starts at 10.00pm & reaches destination @ 11.30 pm 3 days later...the train is operated on all days...if the train starts from bangalore , how many other slowrun expresses will it meet on the way..b4 reaching mumbai....???. 

8. There is magic dragon with 3 heads & 3 tails....u have a magic sword tht can cut 1 head,2 heads , 1 tail & 2 tails...if 1 head is cut another head grows...if 1 tail is cut 2 new tails grow...2 tails are cut a new head grows...& if 2 heads r cut nothing grows...find minimium number of swings 2 cut all heads & tails... 

ORACLE

September 26,2004 

        Hints 

· It contains 30 Questions of SQL + PL/SQL and the TIME allocated  is 30 minutes 

· After test (15 Mins.) a Oracle guy declared test results by  announcing the full name  of candidates and apologising to others. Very Polite. 

· Then another test for Programming is there. 

· After this they have to go for the round of Interviews. 

Aptitude section of Oracle

1. Two words are given by 
Word 1: 83263641
Word 2: 3715468 ( don’t remember the order of the numbers.)
Each character is represented by a digit and each digit represents a character.
It is given that T and R occur four times. S and A occur two times. E, P, O and M occur one time each. The word 

2. starts with T. The letter E occurs in word one only. The questions were, 
  a). Which number represents T.
  b). Which number represents S.
  c).  Which character represents 2.
  d).  Which digit represents A.
  e).   Which word represents word 2. 

3. There was a table with data related to net sales, gross profit, etc... and some questions were asked related to it. Very easy… 

4. A man spent 1/6th of his life in child hood, 1/12th of his life as youngster and 1/7th of his life as a bachelor. After five years of his marriage a son was born to him. The son died four years before the father died and at the time of his death his age was half the total age of his father.
    The questions were, 
  a.  What is the age of the father. (84)
  b.  At what age was he married.(33)
  c.  What is the age of his son.(42) 

5. Rita puts 9 pairs of black socks and 8 pairs of white socks in a drawer. She takes 3 socks. What is the probability that we get a pair of black socks. 

6. What is the value of the following series   1/7 + 2/72 + 1/73 +2/74 + 1/75 + ………. 

7. What should be the value of a, in the polynomials x2 – 11x + a and x2 – 14x + 2a, so that these two polynomials have common factors. a) 24   b)1   c)-1   d)1/2 

8. What is the sum of all the four digit numbers formed using the digits 0, 1, 2 and 3. None of the two digits should be repeated. 

9. a right angled triangle, the square of the hypotenuse is twice the product of the other two sides. Then one of the acute angles of the triangle is…  a)  450 b)  300 c)  600 d)  150 

10. There are two square rooms. Both are of same height. The second room is 5m longer than the first room. The rate for papering the walls is 10 paisa per square meter. The total cost for papering the rooms is Rs 60 and Rs 80. What is the height of the rooms. 

11. There are two numbers in the ratio 8:9. if the smaller of the two numbers is increased by 12 and the larger number is reduced by 19 thee the ratio of the two numbers is 5:9.
Find the larger number. 

12. In class of 10 students, the teacher writes a number on the board. The first student tells that the number is divisible by 1, the second student tells that the number is divisible by 2, the third by 3, the forth by 4 and so on till 10. If the statement of one of the students in wrong then what is the least number possible. 

13. The first and the last sentences of a set of sentences are given. The middle four sentences are in jumbled form we have to select the order in which the sentences are to be placed so that they convey a meaningful message. 

14. A passage with two paragraphs is given. Then two questions are asked based on it. Could not remember it. 

15. A stamp collector arranges his stamps during his free time. When he arranges his stamps in pairs, there is one stamp left. It is the same when he arranges the stamps in groups of 3, 4, 5 and 6. Now, how many stamps will he be left with when he arranges them in groups of 8.  
       Technical 

16. Delete from table tempv where rowid in (select rowid from tempv where rowid in (((select min(rowid) from tempv  where ... count(*) > 1))) union(select rowid from tempv where rowid in (((select min(rowid) from tempv where ... count(*) > 1))); 

17. When there is a failure in fetching the rows from a cursor...
    a. %isopen
    b. %notfound
    c. %found
    d. %rowcount 

18. Select 'oracle' from dual where null = null;
    a. oracle
    b. null
    c. error out
    d. no rows selected 

19. here is a question of Package body and Package Specification,  they have provided the code for that describing the scenario of  movie_tickets_sold and asked the programmer to insert a block of  code...., where that code block to be inserted? In Package body? or  in Package Specification? 

20. Which of the following operator is not used in Outer Join?
a. =
b. !=
c. AND
d. OR 

21. PL/SQL uses which of the following
a. Early Binding
b. Late binding
c. No Binding
d. Deferred Binging 

22. Following is a database trigger, CREATE OR REPLACE TRIGGER delete_row ON DELETE 
  not remember the complete question. 

23. If table contains 100 rows and it is truncated, how many rows get  updated
a. 0
b. 1
c. 100
d. No rows updated 

24. There are some questions on Basic SELECT STATEMENTS... 

25. Some questions on Triggers, Procedures 

26. VARRAYS/Nesting of Table: 1 question is there 

27. NLS_DATE_FORMAT: 1 question 

28. The size of the float data type in C language is … 

29. he size of the float data type in C language is …
What is the output of the following C program.
 Main()
    {
       printf(“%c”,”abcdefgh”[4]);
     } 

30. What is the o/p of the following C-program.
  Main()
     {  
        char str[7]=”strings”;
        printf(“%s”,str);
     } 

31. main()
  { 
    file *fp;
    fp=fopen(“xyz”,”r”);
  }
    What does fp point to? 

32. What is the maximum no. of arguments that can be given in a command line in C. 

33. When the variables are pushed into the stack, which method is used to retrieve them from it.
a) pop b) pull c) remove d) none of these. 

34. What is the size of integer variable in JAVA? 

35. A programs reads “The man and the boy\r\n” from a file using fgets() and stores it in str[]. Then the string stored in str is
   a) “The man and the boy\r\n\0”
   b) “The man and the boy\r\0”
   c) “The man and the boy\n\0”
   d) “The man and the boy\0” 

36. After this written exam, we had another written for the short-listed students. It contained algorithms and coding. There were two questions. 

37. The first one was the conversion of a given expression into its postfix form and then to evaluate it. 

38. The question was to have a circularly linked link-list of integers 1 to n. I we give k as an input then we have to output(print) 1, k, 1+2k, 1+3k … till n and we have to delete these numbers. When we give then next k we have to continue the same process starting with 2. The linked needs to be maintained.

1.   Tech + Aptitude written
       2.   Programming written ( main theme is to test our data structure knowledge, proficiency 
             sorting searching algorithms will clear this round )
       3.   Technical interview
       4.   Puzzle solving
     Friends if u clear all this four rounds u are ready for ORACLE.

SQL AND SQL*Plus 
1. Which of the following statements contains an error?                              
  a..      SELECT * FROM emp WHERE empid = 493945;
  b.     SELECT empid FROM emp WHERE empid= 493945;
  c.     SELECT empid FROM emp;
  d.     SELECT empid WHERE empid = 56949 AND lastname = 'SMITH'; 

2. Which of the following correctly describes how to specify a column alias?
  a.      Place the alias at the beginning of the statement to describe the table.
  b.     Place the alias after each column, separated by white space, to describe the column.
  c.     Place the alias after each column, separated by a comma, to describe the column.
  d.     Place the alias at the end of the statement to describe the table.   

3. The NVL function
 a.      Assists in the distribution of output across multiple columns.
 b.     Allows the user to specify alternate output for non-null column values.
 c.     Allows the user to specify alternate output for null column values.
 d    Nullifies the value of the column output 

4. Output from a table called PLAYS with two columns, PLAY_NAME and AUTHOR,is shown below.Which of the following SQL statements produced it? 
PLAY_TABLE
  "Midsummer Night's Dream", SHAKESPEARE
  "Waiting For Godot", BECKETT
  "The Glass Menagerie", WILLIAMS    

a   SELECT play_name || author FROM plays;
b   SELECT play_name, author FROM plays;
c    SELECT play_name||', ' || author FROM plays;

d    SELECT play_name||', ' || author PLAY_TABLE FROM plays;

5. Issuing the DEFINE_EDITOR="emacs" will produce which outcome?                   
   a.      The emacs editor will become the SQL*Plus default text editor.
   b.     The emacs editor will start running immediately.
   c.     The emacs editor will no longer be used by SQL*Plus as the default text editor.
   d.     The emacs editor will be deleted from the system.

6. The user issues the following statement. What will be displayed if the EMPID selected is 60494? SELECT DECODE(empid,38475, "Terminated",60494, "LOA", "ACTIVE")FROM  emp;
   a.      60494
   b.     LOA
   c.     Terminatedd.     ACTIVE

7. SELECT (TO_CHAR(NVL(SQRT(59483), "INVALID")) FROM DUAL is a valid SQL statement.
   a.      TRUE
  b.     FALSE

8. The appropriate table to use when performing arithmetic calculations on values defined within the SELECT statement (not pulled from a table column) is 
   a.      EMP
  b.     The table containing the column values
  c.     DUALD.     An Oracle-defined table

9. Which of the following is not a group function?                                               
         a.      avg( )
         c.     sqrt( )
         c.     sum( )
         d.     max( )

10. Once defined, how long will a variable remain so in SQL*Plus?
        a. Until the database is shut down
        b. Until the instance is shut down
        c. Until the statement completes
        d. Until the session completes

11. The default character for specifying runtime variables in SELECT statements is
        a.      Ampersand
        b.     Ellipses
        c.     Quotation marks
        d.     Asterisk

12. A user is setting up a join operation between tables EMP and DEPT. There are some employees in the EMP table that the user wants returned by the query, but the employees are not assigned to departments yet. Which SELECT statement is most appropriate for this user?
   a.   select e.empid, d.head from emp e, dept d;
  b.  Select e.empid, d.head from emp e, dept d where e.dept# = d.dept#;
  c.   Select e.empid, d.head from emp e, dept d where e.dept# = d.dept# (+);
  d.  Select e.empid, d.head from emp e, dept d where e.dept# (+) = d.dept#;

13. Developer ANJU executes the following statement: CREATE TABLE animals AS SELECT * fromMASTER.ANIMALS; What is the effect of this statement?                             
a.      A table named ANIMALS will be created in the MASTER schema with the same data as the ANIMALS table owned by ANJU
b.     A table named ANJU will be created in the ANIMALS schema with the same data as the ANIMALS table owned by  MASTER
c.     A table named ANIMALS will be created in the ANJU schema with the same data as the ANIMALS table owned by MASTER.
d.     A table named MASTER will be created in the ANIMALS schema with the same data as the ANJU table owned by ANIMALS.

14. User JANKO would like to insert a row into the EMPLOYEE table, which has three columns: EMPID,LASTNAME, and SALARY. The user would like to enter data for EMPID 59694, LASTNAME Harris, but no salary. Which statement would work best?
 a.  INSERT INTO employee VALUES (59694,'HARRIS', NULL);
 b.  INSERT INTO employee VALUES (59694,'HARRIS');
 c.  INSERT INTO employee (EMPID, LASTNAME, SALARY) VALUES (59694,'HARRIS');
 d.  INSERT INTO employee (SELECT 59694 FROM 'HARRIS');

15. Which three of the following are valid database datatypes in Oracle? (Choose three.)
 a.    CHAR
 b.    VARCHAR2
 c.     BOOLEAN
 d.     NUMBER

16. Omitting the WHERE clause from a DELETE statement has which of the following effects?
  a.      The delete statement will fail because there are no records to delete.
  b.     The delete statement will prompt the user to enter criteria for the deletion             
  c.     The delete statement will fail because of syntax error.
  d.     The delete statement will remove all records from the table.

17. Creating a foreign-key constraint between columns of two tables defined with two different  datatypes will produce an error.
 a.   TRUE
 b.    FALSE

18. Dropping a table has which of the following effects on a nonunique index created for the table?
  a.   No effect.
   b.  The index will be dropped.
  c.   The index will be rendered invalid.
  d.   The index will contain NULL values.

19. To increase the number of nullable columns for a table,
a.   Use the alter table statement.
b.   Ensure that all column values are NULL for all rows.
c.   First increase the size of adjacent column datatypes, then add the column.
d.   Add the column, populate the column, then add the NOT NULL constraint.

20. Which line of the following statement will produce an error?
a.   CREATE TABLE goods
b.   (good_no NUMBER,
c.    good_name VARCHAR2 check(good_name in (SELECT name FROM avail_goods)),
d.   CONSTRAINT pk_goods_01
e.     PRIMARY KEY (goodno));
f.     There are no errors in this statement.

21. MAXVALUE is a valid parameter for sequence creation.                          
a. TRUE
b. FALSE

22. Which of the following lines in the SELECT statement below contain an error?
  a   SELECT DECODE(empid, 58385, "INACTIVE", "ACTIVE") empid
 b.  FROM emp
 c.  WHERE SUBSTR(lastname,1,1) > TO_NUMBER('S')
 d.  AND empid > 02000
 e.  ORDER BY empid DESC, lastname ASC;
 f.   There are no errors in this statement.

23. Which function below can best be categorized as similar in function to an IF-THEN-ELSE statement?
 a.    SQRT
 b.    DECODE
 c.     NEW_TIME
 d.    ROWIDTOCHAR

24. Which two of the following orders are used in ORDER BY clauses? (choose two)
 a.    ABS
 b.    ASC
 c.    DESC
 d.    DISC

25. You query the database with this command SELECT name FROM
    employee WHERE   name LIKE  ‘_a%’; Which names are displayed?
 a.   Names starting with “a”
 b.   Names starting with “a” or “A”
 c.   Names containing “a” as second character
 d.  Names containing “a” as any letter except the firs

     PL/SQL
26. Which of the following statements is true about implicit cursors?
a.  Implicit cursors are used for SQL statements that are not named.
b.  Developers should use implicit cursors with great care.
c.  Implicit cursors are used in cursor for loops to handle data processing.
d. Implicit cursors are no longer a feature in Oracle.

27. Which of the following is not a feature of a cursor FOR loop?                         
a.  Record type declaration.
b.  Opening and parsing of SQL statements.
c.  Fetches records from cursor.
d.  Requires exit condition to be defined.

28.  A developer would like to use referential datatype declaration on a variable. The variable name is EMPLOYEE_LASTNAME, and the corresponding table and column is EMPLOYEE, and LNAME, respectively. How would the developer define this variable using referential datatypes?
  a.      Use employee.lname%type.
  b.     Use employee.lname%rowtype.
  c.     Look up datatype for EMPLOYEE column on LASTNAME table and use that.
  d.     Declare it to be type LONG.

29. Which three of the following are implicit cursor attributes?
   a.  %found
   b.  %too_many_rows
   c.  %notfound
   d.  %rowcount
   e.   %rowtype

30.  If left out, which of the following would cause an infinite loop to occur in a simple loop?
 a.   LOOP
  b.  END LOOP
 c.   IF-THEN
 d.   EXIT

31. Which line in the following statement will produce an error?                       
  a.   cursor action_cursor is
  b.   select name, rate, action
  c.   into action_record
  d.   from action_table;
  e.   There are no errors in this statement.

32. The command used to open a CURSOR FOR loop is
        a.    open
        b.    fetch
        c.    parse
        d.    None, cursor for loops handle cursor opening implicitly

33. What happens when rows are found using a FETCH statement
         a.   It causes the cursor to close
         b.   It causes the cursor to open
         c.   It loads the current row values into variables
         d.   It creates the variables to hold the current row values

34. CREATE OR REPLACE PROCEDURE find_cpt (v_movie_id {ArgumentMode}NUMBER, v_cost_per_ticket {argument mode} NUMBER)IS
  BEGIN
    IF v_cost_per_ticket  > 8.5 THEN
   SELECT
cost_per_ticket
   INTO
v_cost_per_ticket
   FROM
gross_receipt
   WHERE
movie_id = v_movie_id;                                  
    END IF;
    END;
    Which mode should be used for V_COST_PER_TICKET?
        a.      IN
        b.     OUT
        c.     RETURN
        d.     IN OUT

35. CREATE OR REPLACE TRIGGER update_show_gross {trigger information}
   BEGIN
     {additional code}
   END;
The trigger code should only execute when the column, COST_PER_TICKET, is greater than $3.75. Which trigger information will you add?
    a.   WHEN (new.cost_per_ticket > 3.75)
   b.   WHEN (:new.cost_per_ticket > 3.75
   c.    WHERE (new.cost_per_ticket > 3.75)
   d.    WHERE (:new.cost_per_ticket > 3.75)

36. What is the maximum number of handlers processed before the PL/SQL block is exited when an 
      exception occurs?
       a.      Only one
         b.     All that apply
         c.     All referenced
         d.     None

37.  For which trigger timing can you reference the NEW and OLD qualifiers?            
      a.   Statement and Row
      b.   Statement only
      c.   Row only
      d.   Oracle Forms trigger

38. CREATE OR REPLACE FUNCTION get_budget(v_studio_id IN NUMBER) RETURN number 
 ISv_yearly_budget NUMBER;
  BEGIN

SELECT
yearly_budget

INTO
v_yearly_budget

FROM
studio

WHERE
id = v_studio_id;

RETURN v_yearly_budget;
   END;
   Which set of statements will successfully invoke this function within SQL*Plus?
     a    VARIABLE g_yearly_budget NUMBER EXECUTE g_yearly_budget := GET_BUDGET(11); 
     b.   VARIABLE g_yearly_budget NUMBER EXECUTE :g_yearly_budget := GET_BUDGET(11);
     c.    VARIABLE :g_yearly_budget NUMBER EXECUTE :g_yearly_budget := GET_BUDGET(11);
     d.    VARIABLE g_yearly_budget NUMBER :g_yearly_budget := GET_BUDGET(11);

39. CREATE OR REPLACE PROCEDURE update_theater (v_name IN VARCHAR2, v_theater_id IN  NUMBER) IS 
        BEGIN 

UPDATE
theater

SET
name = v_name

WHERE
id = v_theater_id;
       END update_theater;
   When invoking this procedure, you encounter the error: ORA-00001: Unique constraint (SCOTT.THEATER_NAME_UK) violated.How should you modify the function to handle this error?
 a.   An user defined exception must be declared and associated with the error code and handled in the EXCEPTION
       section.                                                                    
 b.   Handle the error in EXCEPTION section by referencing the error code directly.
 c.    Handle the error in the EXCEPTION section by referencing the UNIQUE_ERROR predefined exception.
 d.     Check for success by checking the value of SQL%FOUND immediately after the UPDAT statement.

40. CREATE OR REPLACE PROCEDURE calculate_budget IS v_budget studio.yearly_budget%TYPE;
BEGIN
v_budget := get_budget(11);
IF v_budget < 30000000 THEN
set_budget(11,30000000);
END IF;
END;
You are about to add an argument to CALCULATE_BUDGET. What effect will this have?
a.  The GET_BUDGET function will be marked invalid and must be recompiled before the next  execution.
b.  The SET_BUDGET function will be marked invalid and must be recompiled before the next   execution.
c.  Only the CALCULATE_BUDGET procedure needs to be recompiled.
d.  All three procedures are marked invalid and must be recompiled. 

41. Which procedure can be used to create a customized error message?
   a.  RAISE_ERROR
   b.  SQLERRM
   c.  RAISE_APPLICATION_ERROR
   d.  RAISE_SERVER_ERROR 

42. The CHECK_THEATER trigger of the THEATER table has been disabled. Which command can yo issue to enable this trigger?
   a.  ALTER TRIGGER check_theater ENABLE;                                              
   b.  ENABLE TRIGGER check_theater;
   c.  ALTER TABLE check_theater ENABLE check_theater;
   d.  ENABLE check_theater; 

43. Examine this database trigger CREATE OR REPLACE TRIGGER prevent_gross_modification   {additional trigger information} 
   BEGIN
      IF TO_CHAR(sysdate,’DY’) = ‘MON’ THEN
         RAISE_APPLICATION_ERROR(-20000,’Gross receipts cannot be ‘ || ‘deleted on Monday’);
      END IF;
  END; This trigger must fire before each DELETE of the GROSS_RECEIPT table. It should fire only once for the entire
 DELETE statement. What additional information must you add?
 a.  BEFORE DELETE ON gross_receipt
 b.  AFTER DELETE ON gross_receipt
 c.  BEFORE (gross_receipt DELETE)
 d.  FOR EACH ROW DELETED FROM gross_receipt 

44. Examine this function CREATE OR REPLACE FUNCTION set_budget (v_studio_id IN NUMBER,
v_new_budget IN NUMBER) IS 
 BEGIN
      UPDATE studio
     SET yearly_budget = v_new_budget                              
     WHERE id = v_studio_id;
     IF SQL%FOUND THEN
              RETURN TRUEl;
      ELSE
   RETURN FALSE;
   END IF;
   COMMIT;
END;
  Which code must be added to successfully compile this function?
 a.  Add “RETURN;” right before the “IS” keyword.
 b.  Add “RETURN number” right before the “IS” keyword.
 c.  Add “RETURN boolean” right after the “IS” keyword.
 d.  Add “RETURN boolean” right before the “IS” keyword. 

45. Under which circumstance must you recompile the package body after recompiling the package specification?
  a.  Altering the argument list of one of the package constructs
  b.  Any change made to one of the package constructs
  c.  Any SQL statement change made to one of the package constructs
  d.  Removing a local variable from the DECLARE section of one of the package constructs
46. Procedure and Functions are explicitly executed. This is different from a database trigger. When is 
   a database trigger executed?
   a. When the transaction is committed
   b. During the data manipulation statement
   c. When an Oracle supplied package references the trigger                        
   d. During a data manipulation statement and when the transaction is committed 

47. Which Oracle supplied package can you use to output values and messages from database  triggers, stored procedures and functions within SQL*Plus?
   a. DBMS_DISPLAY
   b. DBMS_OUTPUT
   c. DBMS_LIST
   d. DBMS_DESCRIBE 

48. What occurs if a procedure or function terminates with failure without being handled?
  a. Any DML statements issued by the construct are still pending and can be committed or rolled back.
  b.  Any DML statements issued by the construct are committed
  c.  Unless a GOTO statement is used to continue processing within the BEGIN section, the  construct terminates. The
       construct rolls back any DML statements issued and returns the unhandled exception to the calling environment. 

49. Examine this code
   BEGIN
      theater_pck.v_total_seats_sold_overall := theater_pck.get_total_for_year;
   END;
  For this code to be successful, what must be true?
a. Both the V_TOTAL_SEATS_SOLD_OVERALL variable and the GET_TOTAL_FOR_YEAR function must exist only in the body
    of the THEATER_PCK package.
b. Only the GET_TOTAL_FOR_YEAR variable must exist in the specification of the THEATER_PCK package.
c. Only the V_TOTAL_SEATS_SOLD_OVERALL variable must exist in the specification of the THEATER_PCK package.  
d. Both the V_TOTAL_SEATS_SOLD_OVERALL variable and the GET_TOTAL_FOR_YEAR function must exist in the specification of the THEATER_PCK package. 

50. A stored function must return a value based on conditions that are determined at runtime.  Therefore, the SELECT statement cannot be hard-coded and must be created dynamically when  he function is executed. Which Oracle supplied package will enable this feature?
a.  DBMS_DDL
b.  DBMS_DML                                                                                        
c.  DBMS_SYN
d.  DBMS_SQL 

This is the oracle paper held on July 13 2003 at NITK Surathkal. The test has 2 sections : 30 technical and 30 aptitude and 60 min time. Technical section: its very easy any one can answer 25  qns without preperation. some are

1. How compiler treats variables of recursive functions  

2. What is orthogonal matrix? 

3.  Given two tables and asked 2 qns on those table , 

4. One is on join and another is on NOT IN 

5. Given some qns on pointers( pretty easy) 

6. Given five qns on data structures like , lifo, fifo 

7. Qtn on primary key 

8. How NULL in sql is treated? 

9. Given a doubly linked list and asked r->left->right->data ans: r->data 

10. Explain const char *ptr and char *const ptr      

11. Remaining i didn`t remember

          Technical  

12. What is the output of the following program?<?xml:namespace prefix = o ns urn:schemas -microsoft-com office:office" "
  #include<stdio.h>
  #include<math.h>
  void main( )
    {
      int a=5,b=7;
      printf(“%d\n”,b\a); 
   }
   A. 1.4
   B. 1.0
   C. 1
   D. 0 

13. What is the output of the following program listing?                                              
#include<stdio.h>
 void main ( )
  {
   int x,y:
   y=5;
   x=func(y++);
   printf(“%s\n”,
   (x==5)?”true”;”false”);
  }
     int func(int z)
     { 
      if (z== 6)
        return 5;
      else   
        return 6;
}
  A True
  B false
  C either a or b
  D neither a nor b 

14. What is the output of the following progarm?                                                          
 #include<stdio.h>
   main( )
   {  
    int x,y=10;
    x=4;
    y=fact(x);
    printf(“%d\n”,y);
  }
    unsigned int fact(int x)
     { 
         return(x*fact(x-1));
     }
   A. 24
   B. 10
   C. 4
   D. none 

15. Consider the following C program and chose collect answer
  #include<stdio.h>
  void main( )
   { 
     inta[10],k;
     for(k=0;k<10;k++)
      { a[k]=k;}
     printf (“%d\n”,k);
  }
   A. value of k is undefined ; unpredictable answer                                   
   B. 10
   C. program terminates with run time error
   D. 0 

16. Consider the prog and select answer
   #include<stdio.h>
     void main ( )
      {
         int k=4,j=0:
         switch (k)
         { 
            case 3: j=300; 
            case 4: j=400:
            case 5: j=500;
         }
           printf (“%d\n”,j);
  }
      A. 300
      B. 400
      C. 500
      D. 0    

17.  Consider the following statements:
    Statement 1 A union is an object consisting of a sequence of named members of various types
    Statement 2 A structure is a object that contains at different times, any one of the several members of various types
    Statement 3: C is a compiled as well as an interpretted language
    Statement 4: It is impossible to declare a structure or union containing an instance of itself
      A. all the statements are correct                                                                        
      B. except 4 all are correct
      C. statemnt 3 is only correct
      D. statement 1,3 are incorrect either 2 or 4 is correct 

18. consider the following program listing and select the output
  #include<stdio.h>
    main ( )
      {
        int a=010,sum=0,tracker:
        for(tracker=0;tracker<=a;tracker++)
        sum+=tracker;
        printf(“ %d\n”,sum);}
        A. 55
        B. 36
        C. 28
        D. n 

19. Spot the line numbers , that are valid according to the ANSI C standards?
 Line 1: #include<stdio.h>
 Line 2: void main()
 Line 3: {
        4 : int *pia,ia;
        5 :float *pafa,fa;                                                                                         
        6 :ia=100;
        7 :fa=12.05;
        8 :*pfa=&ia;
        9 :pfa=&ia;
      10 :pia=pfa;
      11 :fa=(float)*pia;
      12 :fa=ia;
      13 :}
          a. 8 and 9
          b. 9 and 10
          c. 8 and 10
          d. 10 and 11 

20. What is the o/p of the follow pgm?
  #include<stdio.h>
   main()
     {
      char char_arr[5]=”ORACL”;
      char c=’E’;
      prinf(“%s\n”,strcat(char_arr,c));                                                    
    }
   a: oracle
   b. oracl
   c. e
   d. none 

21. consider the following pgm listing
 #include<stdio.h>
   main()
    {
     int a[3];
     int *I;
     a[0]=100;a[1]=200;a[2]=300;
     I=a;
     printf(“%d\n”, ++*I);              
     printf(“%d\n”, *++I);              
     printf(“%d\n”, (*I)--);              
     printf(“%d\n”, *I);              
   }
        what is the o/p
a.  101,200,200,199
b.  200,201,201,100
c.  101,200,199,199
d.  200,300,200,100    

22.  which of the following correctly declares “My_var” as a pointer to a function that returns an integer
   a. int*My_Var();
   b. int*(My_Var());
   c. int(*)My_Var();
   d. int(*My_Var)(); 

23.  what is the memory structure employed by recursive functions in a C pgm?
  a. B tree
  b. Hash table
  c. Circular list
  d. Stack 

24. Consider the follow pgm listing?
Line 1: #include<stdio.h>
       2: void main() 
       3: {
       4: int a=1;
       5: const int c=2;
       6: const int *p1=&c;
       7: const int*p2=&a;
       8: int *p3=&c;
       9: int*p4=&a; 

25. what are the lines that cause compilation errors?                                            
  a.  7
  b.  8
  c.  6 and 7
  d.  no errors 

26. what will be the o/p
  #include<stdio.h>
    main()
      {
        inta[3];
        int *x;
        int*y;
       a[0]=0;a[1]=1;a[2]=2;
       x=a++;
       y=a;
       printf(“%d %d\n”, x,(++y));
   }
       a. 0,1
       b. 1,1
       c. error
       d. 1,2
what is the procedure for swapping a,b(assume that a,b and tmp are of the same type?
   a. tmp=a; a=b;b=temp;
   b. a=a+b;b=a-b;a=a-b;                                                                                 
   c. a=a-b;b=a+b;a=b-a;
   d. all of the above

	Campus Interview Conducted in Surathkal on 11th July -2003
  Test was of 1 hour 30 questions. g aptitude and 30 of technical.......some questions. of  aptitude 
   were very lengthy so don't end up in solving them.....time was less......some 15 questions. from 
   arithmetic......and rest 15 logical,statement interpretation,arrangement,tense correction......and
   like that...... 
1. Given a square matrix which consists only of 1 and 0......find which rows,which cols and which  diagonals consist entirely of 1's.  

2. Given an array of integers find all possible combinations of the numbers whose sum equal to 90..... 
ans : knapsack problem (in data structures - aho ullman)  

Note : for them solution was not the criteria.......but the approach was important......the solution
should be generalised and optimized........optimization was given the top priority........  

                     Technical Papers
1. const int MAX=10; 
  main() 
   {        
     enum a {a,b,MAX}; 
     print MAX;
   }
   ans. 2    

2. enum variable is a const variable which can only be assigned a value at initialization or a non const variable which can be assigned any value in the middle of the program? 
ans. const variable    

3. void *p; what operation cannot be performed on p?  ans : arithmetic operation unless it is properly typecasted    

4. char **p="Hello"; 
       print p,*p,**p 
  ans. Hello (null) 
   warning: suspicious pointer conversion  

5. main() 
  {     
    char str[]="Geneius";
    print (str);
  }  
    print(char *s) 
      { 
       if(*s)
       print(++s);
       printf("%c",*s); 
       }
ans. suiene  

6. what does the function fcloseall() does ?  
 ans. fcloseall() closes all open streams except stdin,stdout,stderr,stdprn and stdaux    

7. main() 
  {      
     printf("Genius %d",fun(123)); 
   }   
     fun(int n)
      {    
        return (printf("%d",n));                                                                 
      } 
    ans. 123genius3    

8. difference between definition and declaration. ans. definition once while declaration more than  once  

9. find the error?
 main()
  {
    void fun(); 
    fun(); 
  }
  void fun() 
     {
    int i=10; 
    if(i<10) 
    return 2.0; 
    return 3.0; 
    }       
  ans. no error but warning  

10. int a=9,b=5,c=3,d; 
d=(b-c)<(c-a) ? a : b;
print d
ans 5 

11. 1+2/3*4+1=? Ans. 2   

12. In C++, a variable can be defined wherever needed whereas not in C      

13. main() 
   {   
    int i=4;
    fun(i=i/4); 
    print i; 
   }  
 fun(int i) 
   {
   return i/2; 
   } 
 ans 1  

14. what is an array ? 
ans. contiguous collection of memory occupied by similar data types  

15. printf("\"NITK %%SURAHKAL%% !\""); 
  ans. "NITK %SURATHKAL% !"  

16. difference between scanf and gets in case of string input  ans. scanf does not accepts white space while gets does    

17.  table t1 m rows and x cols table t2 n rows and y cols 
  in t1*t2 rows? cols=? 
  ans. m*n ,x+y   

18.  symbol of realtionship between 2 entities?  

19.  which one cannot come in data modelling  a. customer b. student c. office d. speed  ans speed    

20. can a database table exist without a primary key ?  

21. whether higher normal forms better than lower forms as far redundancy is concerned ?  ans. higher    

22. file is at which level  ans. conceptual level    

23. what is a foreign key  ans. primary key in some other table   
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Oracle DBA Questions
1. SNAPSHOT is used for [DBA] 
a. Synonym,   b. Table space,   c System server, d Dynamic data replication   Ans : D

2. We can create SNAPSHOTLOG for[DBA] 
a. Simple snapshots, b. Complex snapshots, c. Both A & B, d Neither A nor B Ans : A

3. Transactions per rollback segment is derived from[DBA] 
a. Db_Block_Buffers,   b. Processes,   c. Shared_Pool_Size,   d. None of the above
  Ans : B

4. ENQUEUE resources parameter information is derived from[DBA] 
a. Processes or DDL_LOCKS and DML_LOCKS,   b. LOG_BUFFER, c. DB__BLOCK_SIZE..
  Ans : A

5. LGWR process writes information into
a Database files, b Control files, c Redolog files, d All the above.  Ans : C

6. SET TRANSACTION USE ROLLBACK SEGMENT is used to create user objects in a particular Tablespace
   a True,   b False   Ans : False

7. Databases overall structure is maintained in a file called
a Redolog file,   b Data file,   c Control file,   d All of the above.
  Ans : C 

8. These following parameters are optional in init.ora parameter file DB_BLOCK_SIZE, PROCESSES
a True, b False Ans : False

9. Constraints cannot be exported through EXPORT command 
  a True,   b False   Ans : False

10. It is very difficult to grant and manage common privileges needed by different groups of database users using the roles
  a True,   b False Ans : False

11. What is difference between a DIALOG WINDOW and a DOCUMENT WINDOW regarding moving the window with respect to the application window

a  Both windows behave the same way as far as moving the window is concerned.
b  A document window can be moved outside the application window while a dialog window cannot be moved
c  A dialog window can be moved outside the application window while a document window cannot be moved
Ans : C

12. What is the difference between a MESSAGEBOX and an ALERT  

a. A messagebox can be used only by the system and cannot be used in user application while an alert can be used in user application also. 

b. A alert can be used only by the system and cannot be use din user application while an messagebox  can be used in user application also. 

c. An alert requires an response from the userwhile a messagebox just flashes a message
and only requires an acknowledment from the user 

d.  An message box requires an response from the userwhile a alert just flashes a message an only 
requires an acknowledment from the user  Ans : C   

13. Which of the following is not an reason for the fact that most of the processing is done at the server ?
  a To reduce network traffic. b For application sharing, c To implement business rules centrally, 
  d None of the above
   Ans : D

14.  Can a DIALOG WINDOW have scroll bar attached to it ?
   a Yes,   b No Ans : B

15. Which of the following is not an advantage of GUI systems ?
 a. Intuitive and easy to use., b. GUI's can display multiple applications in multiple windows
 c. GUI's provide more user interface objects for a developer d. None of the above
 Ans :D 

16. What is the difference between a LIST BOX and a COMBO BOX ? 

a In the list box, the user is restricted to selecting a value from a list but in a combo box the user can type in value which is not in the list

b A list box is a data entry area while a combo box can be used only for control purposes

c In a combo box, the user is restricted to selecting a value from a list but in a list box the
user can type in a value which is not in the list

d None of the above
Ans : A 

17. In a CLIENT/SERVER environment , which of the following would not be done at the client ?
 a User interface part,  b Data validation at entry line,  c Responding to user events,
 d None of the above  Ans : D 

18. Why is it better to use an INTEGRITY CONSTRAINT to validate data in a table than to use a STORED
PROCEDURE ?
a Because an integrity constraint is automatically checked while data is inserted into or updated in a table while a stored procedure has to be specifically invoked
b Because the stored procedure occupies more space in the database than a integrity constraint definition
c Because a stored procedure creates more network traffic than a integrity constraint definition
Ans : A 

19. Which of the following is not an advantage of a client/server model ?
a. A client/server model allows centralised control of data and centralised implementation of business rules.
b A client/server model increases developer;s productivity
c A client/server model is suitable for all applications
d None of the above.
Ans : C 

20. What does DLL stands for ?
a Dynamic Language Library
b Dynamic Link Library
c Dynamic Load Library
d None of the above
Ans : B 

21. POST-BLOCK trigger is a
a Navigational trigger
b Key trigger
c Transactional trigger                                                                           
d None of the above
Ans : A 

22. The system variable that records the select statement that SQL * FORMS most recently used
to populate a block is
a SYSTEM.LAST_RECORD
b SYSTEM.CURSOR_RECORD
c SYSTEM.CURSOR_FIELD
d SYSTEM.LAST_QUERY
Ans: D 

23. Which of the following is TRUE for the ENFORCE KEY field
a ENFORCE KEY field characterstic indicates the source of the value that SQL*FORMS uses to populate the field
b A field with the ENFORCE KEY characterstic should have the INPUT ALLOWED charaterstic turned off
  a Only 1 is TRUE
  b Only 2 is TRUE
  c Both 1 and 2 are TRUE
  d Both 1 and 2 are FALSE
  Ans : A 

24. What is the maximum size of the page ?
  a Characters wide & 265 characters length
  b Characters wide & 265 characters length
  c Characters wide & 80 characters length
  d None of the above
  Ans : B 

25. A FORM is madeup of which of the following objects
  a block, fields only,
  b blocks, fields, pages only,
  c blocks, fields, pages, triggers and form level procedures,
  d Only blocks.
  Ans : C 

26.  For the following statements which is true                                                
   1 Page is an object owned by a form
   2 Pages are a collection of display information such as constant text  and graphics.
     a Only 1 is TRUE
     b Only 2 is TRUE
     c Both 1 & 2 are TRUE
     d Both are FALSE
      Ans : B 

27. The packaged procedure that makes data in form permanent in the Database is
  a Post
  b Post form
  c Commit form
  d None of the above
  Ans : C 

28.  Which of the following is TRUE for the SYSTEM VARIABLE $$date$$
 a Can be assigned to a global variable
 b Can be assigned to any field only during design time
 c Can be assigned to any variable or field during run time
 d None of the above
 Ans : B 

29.  Which of the following packaged procedure is UNRESTRICTED ?
  a CALL_INPUT,   b CLEAR_BLOCK,   c EXECUTE_QUERY,   d USER_EXIT
Ans : D 

30. Identify the RESTRICTED packaged procedure from the following            
 a USER_EXIT,   b MESSAGE,  c BREAK,  d EXIT_FORM
Ans : D 

31. What is SQL*FORMS
 a SQL*FORMS is a 4GL tool for developing & executing Oracle based interactive applications.
 b SQL*FORMS is a 3GL tool for connecting to the Database.
 c SQL*FORMS is a reporting tool
 d None of the above.
 Ans : A 

32. Name the two files that are created when you generate a form using Forms 3.0
 a FMB & FMX,  b FMR & FDX,  c INP & FRM,  d None of the above
  Ans : C 

33. What is a trigger
  a A piece of logic written in PL/SQL
  b Executed at the arrival of a SQL*FORMS event
  c Both A & B
  d None of the above
  Ans : C 

34. Which of the folowing is TRUE for a ERASE packaged procedure
   1 ERASE removes an indicated Global variable & releases the memory associated with it
   2 ERASE is used to remove a field from a page
   1 Only 1 is TRUE
   2 Only 2 is TRUE
   3 Both 1 & 2 are TRUE
   4 Both 1 & 2 are FALSE                                                               
   Ans : 1 

35. All datafiles related to a Tablespace are removed when the Tablespace is dropped
  a TRUE
  b FALSE
  Ans : B 

36. Size of Tablespace can be increased by
    a Increasing the size of one of the Datafiles
    b Adding one or more Datafiles
    c Cannot be increased
    d None of the above
    Ans : B 

37. Multiple Tablespaces can share a single datafile
   a TRUE
   b FALSE
   Ans : B 

38. A set of Dictionary tables are created
  a Once for the Entire Database
  b Every time a user is created
  c Every time a Tablespace is created
  d None of the above
  Ans : A 

39. Datadictionary can span across multiple Tablespaces           
  a TRUE
  b FALSE
  Ans : B 

40. What is a DATABLOCK
  a Set of Extents
  b Set of Segments
  c Smallest Database storage unit
  d None of the above
  Ans : C 

41. Can an Integrity Constraint be enforced on a table if some existing table data does not satisfy the constraint
  a Yes
  b No 
  Ans : B 

42. A column defined as PRIMARY KEY can have NULL's
  a TRUE
  b FALSE
  Ans : B 

43. A Transaction ends
  a Only when it is Committed
  b Only when it is Rolledback
  c When it is Committed or Rolledback
  d None of the above
  Ans : C 

44. A Database Procedure is stored in the Database                                
  a In compiled form
  b As source code
  c Both A & B
  d Not stored
  Ans : C 

45. A database trigger doesnot apply to data loaded before the definition of the trigger
 a TRUE
 b FALSE
 Ans : A 

46. Dedicated server configuration is
  a One server process - Many user processes
  b Many server processes - One user process
  c One server process - One user process
  d Many server processes - Many user processes
  Ans : C 

47. Which of the following does not affect the size of the SGA
  a Database buffer
  b Redolog buffer
  c Stored procedure
  d Shared pool
  Ans : C 

48. What does a COMMIT statement do to a CURSOR
  a Open the Cursor
  b Fetch the Cursor
  c Close the Cursor
  d None of the above
  Ans : D 

49. Which of the following is TRUE
 1 Host variables are declared anywhere in the program  
 2 Host variables are declared in the DECLARE section
   a Only 1 is TRUE
   b Only 2 is TRUE
   c Both 1 & 2are TRUE
   d Both are FALSE
   Ans : B 

50. Which of the following is NOT VALID is PL/SQL
   a Bool boolean;
   b NUM1, NUM2 number;
   c deptname dept.dname%type;
   d date1 date := sysdate
   Ans : B 

51.  Declare
 fvar number := null; svar number := 5
 Begin
 goto << fproc>>
 if fvar is null then
   << fproc>>
   svar := svar + 5
   end if;
   End;
 What will be the value of svar after the execution ?
a Error
b 10
c 5
d None of the above
Ans : A 

52. Which of the following is not correct about an Exception ?
  a Raised automatically / Explicitly in response to an ORACLE_ERROR
  b An exception will be raised when an error occurs in that block
  c Process terminates after completion of error sequence.
  d A Procedure or Sequence of statements may be processed.
  Ans : C 

53. Which of the following is not correct about User_Defined Exceptions ?             
 a  Must be declared
 b  Must be raised explicitly
 c   Raised automatically in response to an Oracle error
 d   None of the above
 Ans : C 

54. A Stored Procedure is a
a Sequence of SQL or PL/SQL statements to perform specific function
b Stored in compiled form in the database
c Can be called from all client environmets
d All of the above
Ans : D 

55. Which of the following statement is false
a Any procedure can raise an error and return an user message and error number
b Error number ranging from 20000 to 20999 are reserved for user defined messages
c Oracle checks Uniqueness of User defined errors
d Raise_Application_error is used for raising an user defined error.
Ans : C 

56. Is it possible to open a cursor which is in a Package in another procedure ?
a Yes
b No
Ans : A 

57.  Is it possible to use Transactional control statements in Database Triggers?           
a Yes
b No
Ans : B 

58. Is it possible to Enable or Disable a Database trigger ?
a Yes
b No
Ans : A 

59. PL/SQL supports datatype(s)
a Scalar datatype
b Composite datatype
c All of the above
d None of the above
Ans C 

60. Find the ODD datatype out
a VARCHAR2
b RECORD
c BOOLEAN
d RAW
Ans : B 

61. Which of the following is not correct about the "TABLE" datatype ?              
a Can contain any no of columns
b Simulates a One-dimensional array of unlimited size
c Column datatype of any Scalar type
d None of the above
Ans : A 

62. Find the ODD one out of the following
a OPEN
b CLOSE
c INSERT
d FETCH
Ans C 

63. Which of the following is not correct about Cursor ?
a Cursor is a named Private SQL area
b Cursor holds temporary results
c Cursor is used for retrieving multiple rows
d SQL uses implicit Cursors to retrieve rows
Ans : B 

64. Which of the following is NOT VALID in PL/SQL ?
a Select ... into
b Update
c Create
d Delete
 Ans : C 

65. What is the Result of the following 'VIK'||NULL||'RAM' ?               
a Error  
b VIK RAM
c VIKRAM
d NULL  
Ans : C 

66. Declare
  a number := 5; b number := null; c number := 10;
  Begin
  if a > b AND a < c then
  a := c * a;
  end if;
 End;
 What will be the value of 'a' after execution ?
  a 50
  b NULL
  c 5
  d None of the above
 Ans : C 

67. Does the Database trigger will fire when the table is TRUNCATED ?
a Yes
b No
Ans : B 

68. SUBSTR(SQUARE ANS ALWAYS WORK HARD,14,6) will return                  
a ALWAY
b S ALWA
c ALWAYS
Ans : C 

69. REPLACE('JACK AND JUE','J','BL') will return
a JACK AND BLUE
b BLACK AND JACK
c BLACK AND BLUE
d None of the above
Ans : C 

70.  TRANSLATE('333SQD234','0123456789ABCDPQRST','0123456789') will return
a 333234
b 333333
c 234333
d None of the above
Ans : A 

71. EMPNO ENAME SAL
A822 RAMASWAMY 3500
A812 NARAYAN 5000
A973 UMESH 2850
A500 BALAJI 5750
Use these data for the following Questions
Select SAL from EMP E1 where 3 > ( Select count(*) from Emp E2 where E1.SAL > E2.SAL ) will retrieve
a 3500,5000,2500
b 5000,2850
c 2850,5750
d 5000,5750
Ans : A 

72. Is it possible to modify a Datatype of a column when column contains data ?
a Yes
b No
Ans B 

73. Which of the following is not correct about a View ?
a To protect some of the columns of a table from other users                
b Ocuupies data storage space
c To hide complexity of a query
d   To hide complexity of a calculations
Ans : B 

74. Which is not part of the Data Definiton Language ?
a CREATE
b ALTER
c ALTER SESSION
Ans : C 

75. The Data Manipulation Language statements are
a  INSERT
b  UPDATE
c  SELECT
d  All of the above
Ans : D 

76. EMPNO ENAME SAL
A822 RAMASWAMY 3500
A812 NARAYAN 5000
A973 UMESH
A500 BALAJI 5750
Using the above data
Select count(sal) from Emp will retrieve                                           
a 1
b 0
c 3
d None of the above
Ans : C 

77. If an UNIQUE KEY constraint on DATE column is created, will it accept the rows that are inserted with
SYSDATE ?
a Will
b Won't
Ans : B 

78. What are the different events in Triggers ?
a Define, Create
b Drop, Comment
c Insert, Update, Delete
d All of the above
Ans : C 

79. What built-in subprogram is used to manipulate images in image items ?
a Zoom_out
b Zoom_in'
c Image_zoom
d Zoom_image
Ans : C  

80. Can we pass RECORD GROUP between FORMS ?
a Yes
b No
Ans : A 

81. SHOW_ALERT function returns
a Boolean
b Number
c Character
d None of the above
Ans : B 

82. What SYSTEM VARIABLE is used to refer DATABASE TIME ?           
a $$dbtime$$
b $$time$$
c $$datetime$$
d None of the above
Ans : A 

83. SYSTEM.EFFECTIVE.DATE varaible is
a Read only
b Read & Write
c Write only
d None of the above
Ans : C 

84. How can you CALL Reports from Forms4.0 ?
a Run_Report built_in
b Call_Report built_in
c Run_Product built_in
d Call_Product built_in
Ans : C 

85. When do you get a .PLL extension ?
a Save Library file
b Generate Library file
c Run Library file
d None of the above
Ans : A 

86. What is built_in Subprogram ?
a Stored procedure & Function
b Collection of Subprogram
c Collection of Packages
d None of the above
Ans : D 

87. GET_BLOCK property is a
a Restricted procedure
b Unrestricted procedure
c Library function
d None of the above
Ans : D 

88. A CONTROL BLOCK can sometimes refer to a BASETABLE ?               
a TRUE
b FALSE
Ans : B 

89. What do you mean by CHECK BOX ?
a Two state control
b One state control
c Three state control
d none of the above
Ans : C - Please check the Correcness of this Answer ( The correct answeris 2 ) 

90. List of Values (LOV) supports
a Single column
b Multi column
c Single or Multi column
d None of the above
Ans : C 

91. What is Library in Forms 4.0 ?
a Collection of External field
b Collection of built_in packages
c Collection of PL/SQl functions, procedures and packages
d Collection of PL/SQL procedures & triggers
Ans : C 

92. Can we use a RESTRICTED packaged procedure in WHEN_TEXT_ITEM trigger ?
a Yes
b No
Ans : B 

93. Can we use GO_BLOCK package in a PRE_TEXT_ITEM trigger ?             
a Yes
b No
Ans : B 

94. What type of file is used for porting Forms 4.5 applications to various platforms ?
a . FMB file
b . FMX file
c . FMT file
d . EXE file
Ans : C 

95. What built_in procedure is used to get IMAGES in Forms 4.5 ?
a READ_IMAGE_FILE
b GET_IMAGE_FILE
c READ_FILE
d GET_FILE
Ans A 

96. When a form is invoked with CALL_FORM does Oracle forms issues SAVEPOINT ?
a Yes
b No
Ans : A 

97. Can we attach the same LOV to different fields in Design time ?              
a Yes
b No
Ans : A 

98. How do you pass values from one form to another form ?
a LOV
b Parameters
c Local variables
d None of the above
Ans : B 

99. Can you copy the PROGRAM UNIT into an Object group ?
a Yes
b No
Ans : B
100. Can MULTIPLE DOCUMENT INTERFACE (MDI) be used in Forms 4.5 ?
a Yes
b No
Ans : A 

100. Can MULTIPLE DOCUMENT INTERFACE (MDI) be used in Forms 4.5 ?
a Yes
b No
Ans : A 

101. When is a .FMB file extension is created in Forms 4.5 ?                           
a Generating form
b Executing form
c Save form
d Run form
Ans : C 

102.  What is a Built_in subprogram ?
a Library
b Stored procedure & Function
c Collection of Subprograms
d None of the above
Ans : D 

103. What is a RADIO GROUP ?
 a Mutually exclusive
 b Select more than one column
 c Above all TRUE
 d Above all FALSE
Ans : A 

104. Identify the Odd one of the following statements ?
a Poplist
b Tlist
c List of values
d Combo box
Ans : C 

105. What is an ALERT ?
a Modeless window
b Modal window
c Both are TRUE
d None of the above
Ans : B 

106. Can an Alert message be changed at runtime ?
a Yes
b No
Ans : A 

107. Can we create an LOV without an RECORD GROUP ?                    
a Yes
b No
Ans : B 

108. How many no of columns can a RECORD GROUP have ?
a 10
b 20
c 50
d None of the above
Ans D 

109. Oracle precompiler translates the EMBEDDED SQL statemens into
a Oracle FORMS
b Oracle REPORTS
c Oracle LIBRARY
d None of the above
Ans : D 

110. Kind of COMMENT statements placed within SQL statements ?
a Asterisk(*) in column ?
b ANSI SQL style statements(...)
c C-Style comments (/*......*/)
d All the above 
Ans : D 

111. What is TERM ?
a TERM is the terminal definition file that describes the terminal from which you are using R20RUN
( Reports run time )
b TERM is the terminal definition file that describes the terminal from which you are using R20DES
( Reports designer )
c There is no Parameter called TERM in Reports 2.0
d None of the above
Ans : A 

112. If the maximum records retrieved property of a query is set to 10, then a summary value will
be calculated
a Only for 10 records
b For all the records retrieved
c For all therecords in the referenced table                                               
d None of the above
Ans : A 

113. With which function of a summary item in the COMPUTE AT optio required ?
a   Sum
b   Standard deviation
c   Variance
d   % of Total function
Ans : D 

114. For a field in a repeating frame, can the source come from a column which does not exist in
the datagroup which forms the base of the frame ?
a Yes
b No
Ans : A 

115. What are the different file extensions that are created by Oracle Reports ?
a . RDF file & .RPX file
b . RDX file & .RDF file
c . REP file & .RDF file
d None of the above
Ans : C 

116. Is it possible to Disable the Parameter form while running the report?
a Yes
b No
Ans : A 

117. What are the SQL clauses supported in the link property sheet ?                
a WHERE & START WITH
b WHERE & HAVING
c START WITH & HAVING
d WHERE, START WITH & HAVING
Ans : D 

118. What are the types of Calculated columns available ?
a Summary, Place holder & Procedure column
b Summary, Procedure & Formula columns
c Procedure, Formula & Place holder columns
d Summary, Formula & Place holder columns
Ans.: D 

119. If two groups are not linked in the data model editor, what is the hierarchy between them?
  a There is no hierarchy between unlinked groups
  b The group that is right ranks higher than the group that is to theleft
  c The group that is above or leftmost ranks higher than the group that is to right or below it
  d None of the above
  Ans : C 

120. Sequence of events takes place while starting a Database is
a Database opened, File mounted, Instance started
b Instance started, Database mounted & Database opened
c Database opened, Instance started & file mounted
d Files mounted, Instance started & Database opened
Ans : B 

121. SYSTEM TABLESPACE can be made off-line
a Yes
b No
Ans : B 

122. ENQUEUE_RESOURCES parameter information is derived from   
a PROCESS or DDL_LOCKS & DML_LOCKS
b LOG BUFFER
c DB_BLOCK_SIZE
d DB_BLOCK_BUFFERS
Ans : A 

123. SMON process is used to write into LOG files
a TRUE
b FALSE
Ans : B 

124. EXP command is used
a To take Backup of the Oracle Database
b To import data from the exported dump file
c To create Rollback segments
d None of the above
 Ans : A 

125. SNAPSHOTS cannot be refreshed automatically
a TRUE
b FALSE
Ans : B 

126. The User can set Archive file name formats
a TRUE
b FALSE
Ans : A 

127. The following parameters are optional in init.ora parameter file DB_BLOCK_SIZE, PROCESS
a TRUE
b FALSE
Ans : B 

128. NOARCHIEVELOG parameter is used to enable the database in Archieve mode
a TRUE
b FALSE
Ans : B 

129. Constraints cannot be exported through Export command?
a TRUE
b FALSE
Ans : B 

130. It is very difficult to grant and manage common priveleges needed by              
different groups of database users using roles
a TRUE
b FALSE
Ans : B 

131. The status of the Rollback segment can be viewed through
a DBA_SEGMENTS
b DBA_ROLES
c DBA_FREE_SPACES
d DBA_ROLLBACK_SEG
Ans : D 

132. Explicitly we can assign transaction to a rollback segment
a TRUE
b FALSE
Ans : A 

133. What file is read by ODBC to load drivers ?
a ODBC.INI
b ODBC.DLL
c ODBCDRV.INI
d None of the above
Ans : A 

1. Three beauty pageant finalists-Cindy, Amy and Linda-The winner was musician. The one who was not last or first was a math major.The one who came in third had black hair. Linda had red hair. Amy  had no musical  abilities. Who was first?
(A) Cindy    (B) Amy   (C) Linda    (D) None of these 

2. Two twins have certain peculiar characteristics. One of them always lies on Monday, Wednesday, Friday. The other always lies on Tuesdays, Thursday and Saturdays. On the other days they tell the truth. You are given a conversation.Person A- today is Sunday, my name is Anil Person B-today is Tuesday, my name is Bill What day is today? 
 (A) Sunday  (B) Tuesday   (C) Monday      (D) Thursday 

3. The difference of a number and its reciprocal is 1/2.The sum of their squares is  
  (A) 9/4       (B) 4/5      (C) 5/3              (D) 7/4 

4.  The difference of a number and its square is 870.What is the number? 
 (A) 42     (B) 29        (C) 30               (D) 32 

5. A trader has 100 Kg of wheat, part of which he sells at 5% profit and the rest at 20% profit. He gains 15% on the whole. Find how much is sold at 5% profit? 
(A) 60       (B) 50      (C) 66.66      (D) 33.3 

6. Which of the following points are collinear? 
 (A) (3,5)   (4,6)   (2,7)        (B) (3,5)   (4,7)   (2,3)
(C) (4,5)   (4,6)   (2,7)         (D) (6,7)   (7,8)   (2,7) 

7. A man leaves office daily at 7pm.a driver with car comes from his home to pick him from office and bring back home. One day he gets free at 5.30 and instead of waiting for driver he starts walking towards home. In the wayhe meets the car and returns home on car. He reaches home 20 minutes earlier than usual. In how much time does the man reach home usually? 
(A) 1 hr 20 min         (B) 1 hr    (C) 1 hr 10 min            (D) 55 min 

8. If m:n = 2:3,the value of 3m+5n/6m-n is 
 (A) 7/3     (B) 3/7        (C) 5/3        (D) 3/5 

9.  dog taken four leaps for every five leaps of hare but three leaps of the dog is equal to four leap of the hare. Compare speed?
(A) 12:16   (B) 19:20   (C) 16:15           (D) 10:12 

10. A watch ticks 90 times in 95 seconds. And another watch ticks 315 times in 323 secs. If they start  together, how many times will they tick together in first hour?
 (A) 100 times       (B) 101 times          (C) 99 times           (D) 102 times 

11. The purpose of defining an index is  
(A) Enhance Sorting Performance      (B) Enhance Searching Performance
(C) Achieve Normalization                (D) All of the above 

12. A transaction does not necessarily need to be 
(A) Consistent        (B) Repeatable    (C) Atomic  (D) Isolated 

13. To group users based on common access permission one should use  
(A) User Groups          (B) Roles        (C) Grants       (D) None of the above 

14. PL/SQL uses which of the following 
 (A) No Binding   (B) Early Binding     (C) Late Binding      (D) Deferred Binding 

15. Which of the constraint can be defined at the table level as well as at the column level 
 (A) Unique     (B) Not Null      (C) Check        (D) All the above 

16. To change the default date format in a SQLPLUS Session you have to  
  (A)   Set the new format in the DATE_FORMAT key in the windows Registry.
  (B)   Alter session to set NLS_DATE-FORMAT.
  (C)   Change the Config.ora File for the date base.
  (D)   Change the User Profile USER-DATE-FORMAT. 

17.  Which of the following is not necessarily an advantages of using a package rather than  independent stored procedure in data base.  
 (A) Better performance.                (B) Optimized memory usage.
 (C) Simplified Security implementation.       (D) Encapsulation. 

18. Integrity constrains are not checked at the time of 
 (A) DCL Statements.                (B) DML Statements.
 (C) DDL Statements.                (D) It is checked all the above cases. 

19. Roll Back segment is not used in case of a
(A) DCL Statements.  (B) DML Statements.   (C) DDL Statements.     (D) all of the above. 

20. An Arc relationship is applicable when
 (A) One child table has multiple parent relation, but for anyone instance of a child record 
       only one of the relations is applicable.
(B)  One column of a table is related to another column of the same table.
(C)  A child table is dependent on columns other than the primary key columns of the parent
       table.
(D) None of the above. 

21. What is true about the following C functions?
 (A) Need not return any value.          (B) Should always return an integer.
 (C) Should always return a float.       (D) Should always return more than one value. 

22.  enum number { a=-1, b=4, c,d,e,} what is the value of e? 
   (A) 7           (B) 4           (C) 5                  (D) 3 

23. Which of the following about automatic variables within a function is correct? 
 (A) Its type must be declared before using the variable.          (B) They are local.
 (C) They are not initialized to zero.                (D) They are global. 

24.  Consider the following program segment 
   int n, sum=5;
   switch(n)
         {
   case 2:sum=sum-2;
   case 3:sum*=5;
              break;
    default:sum=0;
          }
    if n=2, what is the value of the sum? 
   (A) 0     (B) 15    (C) 3   (D) None of these. 

25. Which of the following is not an infinite loop?                                                           
 (A) x=0;                                                    (B) # define TRUE 0.... 
     do{                                                       While(TRUE){....}
     /*x unaltered within the loop*/                (C) for(;;)   {....}
   ....}
  While(x==0);                                            (D) While(1) {....}     

26.    Output of the following program is  
     main()
       {
          int i=0;
         for(i=0;i<20;i++)
           {
                switch(i)
                       {
                  case 0:
                           i+=5;
                  case 1:
                            i+=2;
                  case 5:
                         i+=5;
                  default:
                        i+=4;
                 break;
                        }
                }
      }  
           (A) 5,9,13,17    (B) 12,17,22         (C) 16,21    (D) syntax error.  

27. What does the following function print? 
  func(int i)
         {
       if(i%2) return 0;
       else return 1;
         }
      main()
          {
         int i=3;
         i=func(i);
         i=func(i);
         printf("%d",i);
            }  
           (A) 3       (B) 1      (C) 0         (D) 2 

28.  What will be the result of the following program?
  char*g()
       {
   static char x[1024];
    return x;
         }
      main()
          {
         char*g1="First String";
         strcpy(g(),g1);
         g1=g();
         strcpy(g1,"Second String");
          printf("Answer is:%s", g());
          } 
        (A) Answer is: First String                (B) Answer is: Second String
        (C) Run time Error/Core Dump      (D) None of these 

29.  Consider the following program 
    main()
       {
      int a[5]={1,3,6,7,0};
      int *b;
      b=&a[2];
       }
  The value of b[-1] is 
 (A) 1        (B) 3      (C) -6            (D) none 

30. Given a piece of code 
  int x[10];
  int *ab;
  ab=x;
To access the 6th element of the array which of the following is incorrect? 
  (A) *(x+5)      (B) x[5]        (C) ab[5]    (D) *(*ab+5} . 
  

  

 
Here is the pattern of Oracle written text.

         Section 1:Aptitude: 30 questions. concentration is more on the English part.

        a) There will be a sentence and two fill ups. Choice were given to  fill the blanks.
        b) Analogy
        c) There will be 4 sentences. You have to arrange them in order.
        d) Only 6-7 questions from apti.

Section 2:Technical: 30 questions.
      a) C questions. around 8.
      b) C++ questions around 2.
     c) Java 2 questions.
     d) Reaming were SQL.

         Note: No negative marking.
                   Time 1 hr

  

